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OVERVIEW
IR
Why do some companies succeed while others fail?
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In the fast evolving world of the Internet, for example, how is it that companies like Yahoo,
Amazon.com, eBay, and Google have managed to attract millions of customers,
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Others like online grocer Webvan, software retailer Egghead.com, and the online pet
supplies retailer, pets.com, all went bankrupt (do not have enough money to pay, their

debts, failed. Distressed, be in finance)?
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Why has Walmart been able to do so well in the fiercely (extremely strong or intense)
competitive (person is eager to be more successful than other people) retail industry, while
others like Kmart have struggled (you try hard to get free)?
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In the personal computer industry, what Dell from less successful companies such as
Gateway?
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In the airline industry, how is it that Southwest Airlines has managed to keep increasing its
revenues and profits (an amount of money that you gain when you are paid more for
something than it cost you) through both good times and bad, while rivals such as US
Airways and United Airlines have had to seek bankruptcy protection (preservation)?
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What explains the persistent growth and profitability of Nucor Steel, now the largest steel
market in America, during a period when many of its once larger rivals disappeared into
bankruptcy?
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In this book, we argue that the strategies a company’s managers pursue have a major
(larger, bigger, greater, main) impact (influence, effect) on its performance relative to rivals
(competitor). A strategy is a set of actions that managers take to increase their company’s
performance (execution) relative to rivals.
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If a company’s strategy does result in superior performance, it is said to have a competitive
advantage.
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Much of this book is about identifying and describing the strategies that managers can
pursue to achieve superior performance.
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A central aim of this book is to give you a thorough (full, universal) understanding of the
analytical techniques and skills necessary to identify and implement (fulfil) strategies
successfully.
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The first step toward achieving this objective (aim) is to describe in more detail what
superior performance and competitive advantage mean.
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Competitive Advantage and Superior Performance
Fasdas 5 A8 e

Superior performance is typically thought of in terms of one company’s profitability
(organization or practice makes a profit) Relative (relevant, germane) to that of other
companies in the same or a similar kind of business or industry.
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The profitability of a company can be measured by the return that it makes on the capital
invested in the enterprise.
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The return on invested capital that a company earns is defined as its profit over the capital
invested in the firm (profit/capital invested).
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By profit, we mean after- tax earnings. By capital, we mean the sum of money invested in
the company, that is, stockholders’ equity (social justice) plus debt owed to creditors.
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This capital is used to buy the resources a company needs to produce and sell goods and
services.
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A company that uses its resources efficiently makes a positive return on invested capital.
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The more efficient a company is, the higher are its profitability and return on invested
capital.

A company’s profitability— its return on invested capital is determined by the strategies its
managers adopt (accept).
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For example, Walmart’s strategy of focusing on the realization of cost savings from
efficient logistics and information systems, and then passing on the bulk of these cost
savings on to customers in the form of lower prices, has enabled the company to gain ever
more market share, reap (get) significant economies of scale, and further lower its cost
structure, thereby boosting (increase) profitability (gain fullness) (for details, see the
Running Case on Walmart).
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1. Complete the following sentences with the best choice of (a), (b), (c) or (d):

1-1.The first step toward achieving this objective is.................

a. .is able to change competitive conditions




b. to describe in more detail what superior performan

ce and competitive advantage mean.

c. The average of the profitability of the company is greater than all other firms

d. It follows specific strategies for better performance

1-2.Superior performance is................

Va. thought of in terms of one company’s profitability.

b. A .Companies are different in their structures.

c. They pursue superior strategies.

d. They follow sustained competitive procedures
1-3.The profitability of a company can be measured by
a. Providing several products

b. Overall performance of the company.

c. Entrance of new companies

Vd. the return that it makes on the capital invested in

the enterprise.

1-4.The return on invested capital that a company earns is defined as..............

a. They pursue superior strategies.
b. Competitive situations are not the same for all indu

c. Sustained competitive strategies

stries.

Vd. profit over the capital invested in the firm (profit/capital invested).

1-5.we mean profit after ........ce......
a. sum of money invested

Vb. tax earnings.




c. plus debt owed to creditors

d. sell goods and services.

1-6. we mean capital..........

a. profitability and return on invested capital.

b. strategies its managers adopt.

Vc. the sum of money invested in the company, that is, stockholders’ equity plus debt owed to creditors.
d. the realization of cost savings from.

1-7.The more efficient a company is,....... are its profitability and return on invested capital.

Va. the higher

b. executive officer.

c. Central export

d. Certificate European

1-8. A company’s profitability, its return on invested capital is determined by............. its managers adopt .
a. Creating sub-contained

b. Low and high

Vc. the strategies

d. among companies

1-9. Walmart's strategy is...........

Va. focusing on the realization of cost savings from efficient logistics and information systems, and then
passing on the bulk of these cost savings on to customers in the form of lower prices.

b. the higher are its profitability and return on invested capital.
c. that managers can pursue to achieve superior performance.
d. result in superior performance.

1-10. Walmart's strategy has enabled the company to...............




a. the higher are its profitability and return on invested capital.

Vb. gain ever more market share, reap significant economies of scale, and further lower its cost
strOucture, thereby boosting profitability

c. uses its resources efficiently makes a positive return on invested capital.

d. The return on invested capital that a company earns is defined as its profit over the capital invested in
the firm.

2) Choose the synonym of the underlined words from words given in bracket.
2-1. while rivals such as US Airways and United Airlines have had to seek bankruptcy protection.
Va. competitor b. challenger c. candidate d. entrant
2-2.What explains the persistent growth and profitability of Nucor Steel?
a. irresolute V b. continuous  c. stubborn d. occasional

2-3. A central aim of this book is to give you a thorough understanding of the analytical techniques and
skills necessary to identify and implement strategies successfully.

a. impede b. gismo c. device Vd. carry out

2-4. Walmart's strategy the company to gain ever more market share, reap significant economies of scale.

Va. get b. bring on c. take to d.cropin

3). What is main idea context?

a. Introduction a Successful company
b. competitive advantage

c. increase profitability of a company
d. Successful strategy for a company

4-1) Answer the following questions on your own.
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4-1. What is means of competitive advantage?
4-2. What is effect of strategies a company’s managers on its performance relative to rivals?
4-3. Why do some companies succeed while others fail?

4-4 How increase profitability of a company?

5) What deduction can be

a. A company that uses its resources efficiently makes a positive return on invested capital.
b. By profit, we mean after- tax earnings.

c. A company’s profitability uses of superior performance and competitive advantage.

d. The profitability of a company can be measured by the return that it makes on the capital invested in
the enterprise.

6) Define and explain the following questions

6-1.What is the first step toward achieving successful strategy in a company?
6-2.What is the mean of superior performance?

6-3.How can be measured profitability of a company?

6-2. What is the mean of the return on invested capital?

6-3.What is the mean of capita in a company?

6-4.What was Walmart’s strategy?

6-5.What was Walmart’s strategy benefits?

6-6.How is return on invested capital for an efficient company?

6-7.what is used capital of a company?

7) Match the words in A with the words given in B. (Five extra words are given):
7-1.Bankrupt a. Distressed

7-2.Fiercely b. Intense
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7-3.competitive
7-4.distinguishes
7-5.profits
7-6.Protection
7-7.Rivals
7-8.Pursue
6-9.Achieve
7-10.describe
7-11.Attract
7-12.Supplies
7-13.Reap
7-14.Boosting
7-15.Profitability
7-16.adopt

7-17 .equity
7-18.Relative
7-19.Implement

7-20.Thorough

8) Cloze Test:

c. eager
d. discern

e. interests

f. continuous
g. competitor.
h. follow

i. get

j. explain

k. solicit

|. Provision

m. get

n. Increase

0. gain fullness
p. accept

g. social justice
r. relevant

s. Fulfil

t. Universal

u. Company
v. make

w. positive
X. return

y. capital
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Read the passage below and decide which choice (a), (b), (c) or (d) best fits each space.

Others like online grocer Web van, software retailer Egghead.com, and the online pet supplies. Retailer,

pets.com, all went 1...........

In this book, we argue that the strategies a company’s managers pursue have a 2.......... B on its

performance relative to 4

company’s S....evenennn.

relative to rivals.

A strategy is a set of actions that managers take to increase their

A central aim of this book is to give you a thorough understanding of the analytical 6..............and skills

necessary to identify and 7

The first step toward achieving this 8

and competitive advantage mean

strategies successfully

is to describe in more detail what superior performance

For example, Walmart’s strategy of focusing on the realization of cost savings from efficient logistics and

information systems, and then passing on the bulk of these cost savings on to customers in the form of

lower prices, has enabled the company to gain ever more market share, 9................ significant economies
of scale, and further lower its cost structure, thereby 10.............. profitability.

8-1.  a.bankrupt b. Performance c. rivals d. argue

8-2. a.argue b. major c. bankrupt d. Internet
8-3 a. profit b. argue c. impact d. such

8-4 a. result b. advantage c. through d. rivals
8-5 a. performance b. strategy C. protection d. largest
8-6 a. identifying b. techniques c. describing d. manager
8-7 a. profitability b. period c. implement d. neglect
8-8 a. company b. efficient c. capital d. objective
89 a.reap b. accept c. invested d. return
8-10 a. decrease b. boosting c. buy d. needs

9) True or False?

9-1.Some companies managed and others are bankrupt. (T/F)

9-2.The strategies a company’s managers pursue haven’t a major. (T/F)
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9-3.A strategy is a set of actions that managers take to increase their company’s performance relative to
rivals. (T/F)

9-4.1f a company’s strategy does result in superior performance, it is said to have a competitive damage.

(T/E)
9-5.The strategies that managers can pursue to achieve superior performance. (T/F)

9-6.The strategies successfully is misunderstanding of analytical techniques and skills necessary to
identify and implement. (T/F)

9-7. A central aim is to give you a thorough understanding of strategies successfully. (T/F)
9-8. Superior performance is typically thought of in terms of one company’s haven’t profitability. (T/F)

9-9. The profitability of a company can be measured by the return that it makes on the capital invested
in the enterprise. (T/F)

9-10. A company that uses its resources efficiently makes a negative return on invested capital. (T/F)

10) Choose the best appropriate word for each sentence.

10-1.In the evolving world of the Internet, some companies have .................. and others are bankrupt.
a. managed b. talking c. listen d. looked
10-2.A strategy is a set of actions that managers take to increase their company’s ......ccccov...... relative to
rivals.
a. rivals b. Performance c. bankrupt d. argue

10-3.Thorough understanding of the analytical techniques and skills necessary to identify and
implement .......cccocueeveen. successfully.

a. failed b. perfidy . strategies d. Barbaric
10-4.Superior performance is typically thought of in terms of one company’s ......cccccoeeeieienene.
a. loss b. mutilate c. damage d. profitability

10-5.The return on invested capital that a company earns is defined as its profit over the capital invested

a. firm b. loss c. budget d. account
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10-6.By profit, we mean after ........... earnings.
a. benefit b. Tax c. dividend d. instrumental
10-7.BYy oo , we mean the sum of money invested in the company, that is, stockholders’ equity

plus debt owed to creditors.

a. Tax b. profit c. capital d. damage
10-8.A company that uses it’s .................. efficiently makes a positive return on invested capital.
a. dividend b. capital c. duty d. resources

10-9.The more --

a company is, the higher are its profitability and return on invested capital.

a. efficient b. Inefficient c.inept d. disorganized
10-10.A company’s profitability its return on invested ............... is determined by the strategies its
managers adopt.

a. loss b. capital c. boost d. create

Jsh o5 8 V) s sl

went bankrupt
fiercely
competitive
struggled
distinguishes

discern

Distressed, be in financial

extremely strong or intense

person is eager to be more successful than other peolef
you try hard to get free

tell the difriends, understanding the difrentes

distinguish, tell the difference
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protection preservation 61265 (Culea
major larger,bigger, greater, main hal oaee 5K 5
impact influence, effect At ¢ il
rivals competitor Sy
achieve get O )
performance execution S ) e e ySdae
thorough full, universal alai (Jals
implement fulfil Ol aladl ¢3S )yl
objective aim AT
profitability organization or practice makes a profit (S g €l s
describe explain Za s
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equity social justice BB AT PN PIN
adopt accept DS Jsd
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efficient imperesive isa
boost increase G093l ¢ By ey o8
profitability gain fullness A g ¢ 5l D gus
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A company is said to have a competitive advantage over its rivals when its profitability is greater
than the average profitability (gain fullness) for all firms (company) in its industry.
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The greater the extent (area) to which a company’s profitability exceeds (pass=more than) the
average (middle) profitability for its industry, the greater is its competitive advantage.

RS e WA A ) o e il faly (o) 3B S S R g ) e 8 8

A company is said to have a sustained (continuous) competitive advantage when it is able to

maintain (keep going) above- average profitability for a number of years.
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Companies like Walmart, Southwest, and Dell Computers have had a significant (momentous) and
sustained competitive advantage because they have pursued firm- specific strategies that result in
(lead to) superior performance.
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It is important to note that in addition to its strategies, a company’s performance is also determined
(inflexible) by the characteristics (typical) of the industry in which the company competes.
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Different industries are characterized (to be typical of a something) by different competitive

conditions.
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In some, demand (request) is growing rapidly, while in others it is contracting. Some might be beset
(attack) by excess (too much) capacity (ability) and persistent (repetitive) price wars, others by
strong demand and rising prices.
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In some, technological change might be revolutionizing (transfer to change something completely)

competition.
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Others might be characterized by a lack (inactivity) of technological change.
WS sl g s Syl An glal ) (o) palSaalll il (51530 s gl s o 2sS) ASlla )

In some industries, high profitability among incumbent (necessary) companies might induce (create)
new companies to enter the industry, and these new entrants might depress (decrease) prices and
profits in the industry.

sy S sl Gl (el s A) Jsed LA U 3 pdine G (20Y) Yl oslism Cala s 0 I pdry 0
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In other industries, new entry might be difficult, and periods (time) of high profitability might persist
for (insist on) a considerable time.
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Thus, the average profitability is higher in some industries and lower in other industries because
competitive conditions vary from industry to industry.
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Competitive Advantage
r8 ) 5 s iy el

The advantage over rivals achieved when a company’s profitability is greater than the average
profitability of all firms in its industry.
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Sustained Competitive Advantage
P KT ERL LY

The competitive advantage achieved when a company is able maintain (continue) above- average
profitability for a number of years
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Strategic Managers
(S 0 S sl (5 550 il 0aia 3 4 ) Jale (Ol e
Managers are the lynch pin (axis) in the strategy- making process.
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It is individual managers who must take responsibility for formulating strategies to attain (achieve)
a competitive advantage and putting those strategies into effect (action).
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They must lead the strategy- making process.
S W) )l SO Culad S g Ladd) ) (8 ) pda

Here we look at the strategic roles of different managers.
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Later in the chapter we discuss strategic leadership, which is how managers can effectively lead the
strategy- making process
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In most companies, there are two main types of managers: general managers, who bear (carry=
take) responsibility for the overall (general) performance of the company or for one of its major
self- contained (independent) subunits (a distinct component of something) or divisions (section),
and functional managers, who are responsible for supervising (controlling) a particular function,
that is, a task, activity, or operation, like accounting, marketing, Research (study) & Development,
information technology, or logistics.
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A company is a collection of functions or departments that work together to bring a particular
product (special typical) or service to the market.
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If a company provides (supply) several different kinds of products or services, it often duplicates
(two people do same thing) these functions and creates a series of self- contained divisions (each of
which contains its own set of functions) to manage each different product or service.
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The general managers of these divisions then become responsible for their particular product line.
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The overriding (important) concern (to busy with) of general managers is for the health of the
whole (complete) company or division under their direction (leadership); they are responsible for
deciding how to create a competitive advantage and achieve high profitability with the resources
and capital they have at their disposal (at hand).
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Figure 1.1 shows the organization of a multidivisional company, that is, a company that competes in
several different businesses and has created a separate self- contained division to manage each of
these.
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As you can see, there are three main levels of management: corporate, business, and functional.
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General Managers are found at the first two of these levels, but their strategic roles differ
depending on their sphere (area) of responsibility.
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General Managers
(oaiis Kdalaa o)) ata) JS slugy

Managers who bear responsibility for the overall performance of the company or for that of one of
its major self- contained subunits or divisions.
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Functional Managers
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Managers responsible for supervising a particular function— that is, a task, activity, or operation,
like accounting, marketing, Research & development, information technology, or logistics.
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Multidivisional Company
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A company that competes in several different businesses and has created a separate, self-
contained division to manage each of them.

A C)pa o) 05 S e 358 ol g (g g ARSI Cullad CAlida LA 05 3 AS 3 gdine Al IS L4y
A0 LR o (da A

Corporate- Level Managers
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The corporate level of management consists of the chief executive officer (CEQ), other senior
executives, the board of directors, and corporate staff.
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These individuals occupy the apex of decision making within the organization.
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The CEO is the principal general manager.
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In consultation (talk) with other senior executives, the role of corporate- level manager is to oversee
(direct) the development of strategies for the whole organization.
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This role includes defining (explain) the goals of the organization, determining (limit) what
businesses it should be in, allocating resources among the different businesses, formulating and
implementing strategies that span individual businesses, and providing leadership for the entire
(whole) organization.
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Consider General Electric as an example.
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GE is active in a wide range of businesses, including lighting equipment, major appliances, motor
and transportation equipment, turbine generators, construction and engineering services, industrial
electronics, medical systems, aerospace, aircraft engines, and financial services.
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The main strategic responsibilities of its CEO, Jeffrey Immelt, are setting overall strategic goals,
allocating resources among the different business areas, deciding whether the firm should divest
itself of any of its businesses, and determining whether it should acquire any new ones.
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In other words, it is up to Immelt to develop strategies that span individual businesses; his concern
is with building and managing the corporate portfolio of businesses to maximize corporate
profitability.
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It is nothisspecific responsibility to develop strategies for competing in the individual business areas,
such as financial services.
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The development of such strategies is the responsibility of the general managers in these different
businesses or business- level managers.
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However, it is Immelt’s responsibility to probe the strategic thinking of business- level managers to
make sure that they are pursuing strategies that will contribute toward the maximization of GE’s
long- run profitability, to coach and motivate those managers, to reward them for attaining or
exceeding goals, and to hold them to account for poor performance.
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Corporate- level managers also provide a link between the people who oversee the strategic
development of a firm and those who own it (the shareholders).
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Corporate- level managers, and particularly the CEO, can be viewed as the agents of shareholders.
b 8 BT laalga b W) b Ol gl A (g )y FFF 0550 O aa

It is their responsibility to ensure that the corporate and business strategies that the company
pursues are consistent with maximizing profitability and profit growth.
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If they are not, then ultimately the CEO is likely to be called to account by the shareholders.
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Business- Level Managers
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A business unit is a self- contained division (with its own functions— for example, finance,
purchasing, production, and marketing departments) that provides a product or service for a
particular market.
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The principal general manager at the business level, or the business- level manager, is the head of
the division.
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The strategic role of these managers is to translate the general statements of direction and intent
that come from the corporate level into concrete strategies for individual businesses.
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At GE, a major corporate goal is to be first or second in every business in which the corporation
competes. Then the general managers in each division work out for their business the details of a
business model that is consistent with this objective
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Business Unit
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A self- contained division that provides a product or service for a particular market.
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A- Complete the following sentenceswith the best choice of (a), (b), (c) or d:

1-Acording to the passage a company is said to have a competitive advantage over its rivals when..........
A .is able to maintain its average profitability for a number of years.

B .is able to change competitive conditions.

C .the average of the profitability of the company is greater than all other firms

D .itfollows specific strategies for better performance.

2-The average profitability of a company of some industries is not the same for a company in that........
A .Companies are different in their structures.

B. They pursue superior strategies.

C. They followsustained competitive procedures.

D. Competitive situations are not the same for all industries.

3-Which of the following statement is said to beas acompetitive condition?

A. High profitability among companies

B.Sustained competitive strategies

C. Low and high industries

D. Entrance of new companies

4-General managers are responsible for.......

A.Providing several products.

B.Preparing appliancesand capitalfor the company.

C. Creating sub-contained divisions.
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D. Overall performance of the company.

5. According to the passage the acronym“CEQ” stands for.....
A. Chief executive officer.

B.Cooperative export organization.

C. Central export office.

D. Certificate European organization.

6-Business-level- managersare concerned with......

A. The strategiesthat span individual business.

B.The strategiesthat is specific to a particular business.

D. Business models that is consistent with given objectives.

D. Strategies that contribute to the maximum of profitability.

7. Corporate-level manager does the following responsibilities except for......
A.Predicting the development of strategies.

B. Defining the goals of the organization.

C. Determining what business should be done.

D. Maximizing profitability and profit growth strategies.

8- The characteristics of the industry in which the company competes determines the......
A.Company’s capacity.

B. Company’sperformance.

C. Company’shigh technology.

D. Company’s marketing.

9-Functional managers are responsible for the following duties except for.......

A. Research and development.
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B. Logistics.
C.Providing capital for the company.

D.Accounting.

10-corporate-level managers are concerned with......
A. Strategies that span individual businesses.
B. Translating the general statements of direction.
C.Maximizing the company profitability.

D .Providing services for particular market.

B-Choose the synonym of the underlined words from words given in bracket.(One word is extra)
{Continue-go beyond a limit-company-reserve-change}

11-A firm is a collection of functions and departments.

12-Many organizations prefer to revolutionize the traditional ways of their administration.

13-Japan tries to sustain its status in automobile manufacturing in the world.

14-High quality production of goods by an industrial organization exceeds its profit.
C-True or False?

15-Different competitive conditions result in different industries.(T/F)

16-The entrance of new companies lowers the prices and profits in any industry.(T/F)

17-A company is said to have a sustained advantage if it is able to keep the average profitability for a
number of years.(T/F)

18-The average profitability is dependent on the kind of industry.(T/F)

19-Supervising on information technology is the responsibility of a functional managerin a
company.(T/F)




28
20-Business-level manager provides a link between shareholders and the people who oversee the
strategic development of a company.(T/F)

21-Allocating resources among different business areas is carried out by CEO in an industrial
organization.(T/F)

22- Having united sections of management is the core characteristic of amultidivisional company(T/F)
23-Research and development are the managerial strategies in a company.(T/F)

24-Specific strategies result in superior performance for any given organization.(T/F)

D- Choose the best appropriate word for each sentence.

25-Some industries might be characterized by a lack of.......change.

a. technological b.industiralc.financiald.economical

26-The average ......is higher in some industries and lower in others.
a.profitabilityb.acceptabilityc.probabilityd.functionality

27-In some industries .... of profitability might persist for a considerable time.
a.periodb.degreec.processd.plan

28-General and functional managers are responsible for........ a particular function.
a.supervisingb.designingc.analyzingd.allocaing

29-The ......concern of general managers is for the health of the whole company.
a.overridingb.promissingc.trivilingd.rising

30-If a company provides different kinds of......or services, subsequently it duplicate its functions as well.
a.productb.conductc.contactd.abstract

31-There are lots of resources and capitals at the ....of general managers of a company.

a.disposal b .proposal c.principald.critical

32-General managers are responsible for the......performance of the company

a.overallb.finalc.minerald.trivial
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33-In consultationwith other senior ....., the role of corporate-level manager is to oversee the
development of strategies of the company

a.excecutivesb.producersc.distributorsd.advisors

34-providing......... for the entire organization is the main responsibility of the principal general manager.
a.leadershipb.relationshipc.friendshipd.scholarship

E-Define and explain the following questions.

35-What is the difference of “competitive advantage” and “sustain competitive advantage”?
36-Justify howa difference of industries is characterized bya differencein situations of competition.
37-1s average profitability the same for all industries? Justifyyour answer.

38-Define the two maintypes of managers in a company.

39-provide a definition for a “company”.

40-What is a “multidivisional “company?

41-Concerning “strategies”what is the main focus of both “business managers” and “corporate —level
managers”?

F-Answer the following questions on your own.
42-What do you infer by “strategic Management”?

43-What is the main idea of this sketch in general?

G-Cloze Test:

Read the passage below and decide which choice (a),(b),(c) or (d) best fits each space.

{ (1)effectively(2)attain(3)bear(4)strategic(5)concern(6)achieve(7)information)(8)oversee
(9)pursue(10)levels}

General Managers are the lynch pin in making strategic decisions to manage ...1... their companies.
They put those strategiesintoeffect to ...2.... a competitive advantage. They ...3.the responsibility for the
whole performance of the company. Their strategic...4..in promoting the affairs of the company is
undeniable.In other words, the main .....5...of general managers isto.......6....high profitability with the
resources and capital allocated for the company. While functional managers are responsible for
controlling specific functions such as an activity or ...7.. technology the role of corporate-level managers
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is to.....8...the development of strategies of the organization.Meanwhile business managers try to ensure
that the corporate and business strategies that the company ....9...are consistent with increasing
profitability and profit growth .As you might infer up to now there are three ...10... of management.

1- a.effectivelyb.prominentlyc.definitlyd.probably

2- a.attainb.retainc.containd.maintain

3- a.bearb.carec.fared.tear

4- a.strategicb.politicc.economicd.tragedic

5- a.concernb.discernc.returnd.stern

6- a.achieveb.receivec.decieved.conceive

7- a.informationb.reformationc.conformation d. reservation
8- a.overseeb.overridec.overlookd.overlearn

9- pursue b.perspirec.prefer d. present
10- a.levelsb.layersc.lawyersd.lowers

H-Match the words in A with the words given in B.(Five extra words are given):
1- Rival=[a]-work, act in a special way
2-Exceed=[b]access, be allowed to use money for sth
3-Function=[c]copy the same work or task
4-Disposal=[d]directing a company

5-Consistent =[e]assets, money

6-Duplicate=[f]tools

7-Leadership=[h]determine the place or the case of sth
8-Capital=[jlone who owns a company or part of it
9-Strategy =[k]someone whom you are competing with
10-Appliance=[l]presenting data in numbers
11-Execution=[m]continue to exist or happen
12-Allocation=[o]stretch sth to other parts
13-Span=[p]sum of money used in business

14-Shareholder=[r]not being friendly
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15-Motivate=[qg]performing a different task

16-Maintain=[s]try to have sthfor longer time

17-persistent=[t]cause sb to behave in a particular way
18-Bear=[u[giving sth to a particular company or person

19-Consultation=[v]a person who is in charge of an organization

20-Ultimately=[w]be in use at any time

[yldecrease

[g]performing a task

[x]finally

[n]discussion between many people
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firms

extent
exceeds
average
sustained
maintain
significant
average
result in
determined
characteristics
characterized

demand

company
area

pass,more than

middle

continuous

keep going

momentous

middle

lead to

inflexible

typical

to be typical of a something
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beset

excess
capacity
persistent
contracting
persistent
revolutionizing
lack
incumbent
induce
depress
periods
persist for
achieved
maintain

pin

attain

effect

bear

overall
subunits
self-contained
divisions
supervising
development
logistic

particular

attack

too much

ability

repetitive
gradually reducing

repetitive

transfer to change something completely

inactivity
necessary
create
decrease
time

insist on

continue

axis

achieve
action

carry, take
general

a distinct component of something
independent
section
controlling
improvement
structural

specific
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Functional- level managers are responsible for the Specific (special) business functions (tasks) or operations (human
resources, purchasing (buying), product development, customer service, etc.) that constitute a company or one of
its divisions.
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Thus, a functional manager’s sphere (area) of responsibility is generally confined (limited to) to one organizational
activity whereas general managers oversee the operation of a whole company (firm) or division.
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Although (though) they are not responsible for the overall performance of the organization, functional managers
nevertheless have a major strategic role: to develop (expand) functional strategies in their area that help fulfill the
strategic objectives (aim) set by business- and corporate- level general managers.
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In GE’s aerospace business, for instance (example) manufacturing (produce) managers are responsible for
developing manufacturing strategies consistent with (along with) the corporate objective of being first or second in
that industry.
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Moreover, functional managers provide most of the information that makes it possible for business- and corporate-
level general managers to formulate realistic (pragmatic) and attainable (pragmatic) strategies.
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Indeed (in fact), because they are closer (nearer) to the customer than the typical general (produce) manager is,
functional managers themselves may generate important ideas that subsequently may become major strategies for
the company.
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Thus, it is important (significant) for general managers to listen closely to the ideas (opinions) of their functional
managers.
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An equally (similarly) great responsibility for managers at the operational level is strategy implementation
(conduct): the execution of corporate- and business- level plans (program).
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The Strategy- Making Process
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Now that we know something about the strategic roles of managers, we can turn our attention (consideration) to
the process by which managers formulate (establish) and implement strategies.
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Many writers have emphasized (force on) that strategy is the outcome (result) of a formal planning process and
that top management plays the most important role in this
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Although this view has some basis in reality, it is not the whole (total) story.
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As process.5 we shall see later in the chapter, valuable (costly) strategies often emerge (appear) from deep within
the organization without prior (previous) planning.

igh o pals A8 6 5y aalon o sn glebe Blee) e died )l sla 5 i) e sl sa Jiad aala) ja 0 A i 1 aS ) shailes

Nevertheless, a consideration of formal, rational planning is a useful (beneficial) starting point for our journey (trip)
into the world of strategy.
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Here we consider what might be described (explain) as a typical formal strategic (policy) planning model for making
strategy.
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The formal strategic planning process has five main steps:
Dl leal dla e gy Jald SO 5 il (5 5 4wl il
1. Select the corporate mission (function) and major corporate goals.
S QAT | Syl ) Gl g Sl ) gaba

2. Analyze the organization’s external competitive (challenging) environment to identify opportunities (chances)
and threats.

S Qa4 Sad Waagh g cia b bl sl 1) Ghadlew paJA 03 baa
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3. Analyze the organization’s internal operating environment (surrounding) to identify the organization’s strengths
(potency) and weaknesses (deficiencies)
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4. Select strategies that build on the organization’s strengths (potency) and correct its weaknesses (deficiencies) in
order to take advantage of external opportunities and counter external threats. These strategies (techniques)
should be consistent with the mission and major goals of the organization. They should be congruent (coordinated)
and constitute a viable business model (design).
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5. Implement (execute) the strategies
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Functional- Level Managers
Functional- level managers are responsible for the specific business functions or operations (human
resources, purchasing, product development, customer service, etc.) that constitute a company or one
of its divisions. Thus, a functional manager’s sphere of responsibility is generally confined to one
organizational activity, whereas general managers oversee the operation of a whole company or
division. Although they are not responsible for the overall performance of the organization, functional
managers nevertheless have a major strategic role: to develop functional strategies in their area that
help fulfill the strategic objectives set by business- and corporate- level general managers.

1. Sphere of responsibility for functional manager is confined to ...
a. Anindustrial activity
b. Some organizational affairs
c. One organizational activity
d. Handling all activities
2. What is the main idea of this paragraph?
a. Functional-level managers are very busy
b. Functional level managers versus general managers
c. Responsibility of functional level managers
d. Overall performance of the organization
3. What do you confer from this paragraph?
a. ltisvery hard to be functional level manager
b. Functional level managers constitutes an organization
c. Functional level managers are strategically important
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d. General managers are superior than functional level managers
4. What does constitute means in second line

a. Structure

b. Form

c. Substitute

d. Formulate
5. What is the meaning of whole in line 4

a. Partly
b. A section
c. Total

d. Comprehensive
6. Whatis the meaning of responsible in line 1
a. Manager
b. Director
c. Liable
d. Professor
7. What is the meaning of develop in line 5
a. Extraordinary

b. Extend
c. Structure
d. Function

8. Functional level manager are responsible for
a. Overall performance of company
b. Providing most resources
c. have a major strategic role
d. respond clients
9. General managers
a. Provide information
b. Talk with employees about strategy
c. Look for perspective
d. Monitor the whole operation
10. Which part set objectives
a. General managers in business
b. General managers in corporate
c. General managers in sales department
d. AandB

In GE’s aerospace business, for instance, manufacturing managers are ...1.... for developing .....2....
strategies consistent with the corporate ....3.... of being first or second in that industry. ...4.., functional
managers provide most of the information that makes it ....5.... for business- and corporate- level
general managers to formulate ...6... and attainable strategies. Indeed, because they are closer to the
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....7.... than the typical general manager is, functional managers themselves may ....8.... important ideas
that subsequently may become major strategies for the company. ..... 9....., it is important for general
managers to listen closely to the ....10.... of their functional managers. An equally great responsibility for
managers at the operational level is strategy implementation: the execution of corporate- and business-
level plans.

1. A.manager b. substitution c. responsible d. stockholder
2. A.incorporation b. manufacturing c. stocking d. including

3. A.first b. steering c. objective d. crash

4. A stability b. moreover C. cure d. funding

5. A. possible b. future c. fortune d. establishment
6. A.incase b. realistic c. function d. stimulation

7. A.customer b. company c. organization d. management
8. A.remove b. generate c. start d. end

9. A.good b. thus c. far d. away

10. A. dormant b. plan c. level d. ideas

The Strategy- Making Process

Now that we know something about the strategic roles of managers, we can turn our attention to the
process by which managers formulate and implement strategies. Many writers have emphasized that
strategy is the outcome of a formal planning process and that top management plays the most
important role in this process. Although this view has some basis in reality, it is not the whole story. As
we shall see later in the chapter, valuable strategies often emerge from deep within the organization
without prior planning. Nevertheless, a consideration of formal, rational planning is a useful starting
point for our journey into the world of strategy. Here we consider what might be described as a typical
formal strategic planning model for making strategy.

A Model of the Strategic Planning Process

The formal strategic planning process has five main steps:

1. Select the corporate mission and major corporate goals.

2. Analyze the organization’s external competitive environment to identify opportunities and threats.

3. Analyze the organization’s internal operating environment to identify the organization’s strengths and
weaknesses.

4. Select strategies that build on the organization’s strengths and correct its weaknesses in order to take
advantage of external opportunities and counter external threats.

These strategies should be consistent with the mission and major goals of the organization. They should
be congruent and constitute a viable business model.

5. Implement the strategies.

1. Formal a. Company
2. Strategic b. Aim
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3. Corporate
4. Select

5. Implement
6. Goal

7. Step

8. External

9. Responsible
10. Constitute
11. Develop
12. Whole

13. Organization
14. Manufacturing
15. Management
16. Nevertheless
17. Planning

18. Subsequently
19. Opportunities
20. Mission

No vk e

What does constitute a company?
Where do often valuable strategies emerge?

What is responsibility of general manager?
Explain how strategies should be?

TXg< e SOTOS3 T AT IR ™0 Q0

Name formal strategic planning process stages?

Outside
Regulate
Official
Stimulate
Tactical
Stage

Carry out

In charge of
Create
Assignment

. Variety

Skill

Fortunes
governing
programming
extend

as a result
total
producing
corporation

. however

twisting
incline

What is responsibility of functional level managers?

Which one is closer to the customer, general manager or functional manager, why?
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i) bse c
Sodhas d
11. Circle T for true and F for false for following sentences regarding above paragraph:

a. General Manager controls operation of whole company. T F
b. Functional manager’s sphere of responsibility is generally confined to one organizational

activity. T F

c. Many writers have emphasized that strategy is not the result of a formal planning process
TF

d. Valuable strategies often emerge from deep within the organization with prior planning T
F

Great responsibility for managers at the operational level is strategy implementation T F
f.  Functional managers are responsible for the overall performance of the organization T
F
Rational planning is a useful starting point into the world of strategy T F
Manufacturing managers are responsible for developing incompatible strategies
consistent with the corporate T F
i. Functional managers have a major strategicrole T F
j.  Therole of functional managers is to develop functional strategies to fulfill the strategic
objectives T F

= @

Ao g R Y g (sl
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Specific special Ua pada 6 g
oversee monitor, supervise Jus
attaining gaining O Sy
shareholder OV algus
agent client Jle
responsibility duty 4ads g ol gha
ensure make certain O aadae
pursue follow OaS Jlia
consistent with in relation to Lakayy
ultimately at last Uilgs
functions tasks calls
purchasing buying XA
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sphere
confined
company
Although
develop
objectives
major

instance
manufacturing
consistent with
realistic
attainable
subsequently
Indeed

closer

general
important
ideas

equally
implementation
plans
attention
formulate
emphasized
outcome
whole

valuable

area
limited to
firm

though
expand

aim
important
example
produce
along with
pragmatic
pragmatic
successively
in fact
nearer
typical
significant
opinions
similarly
conduct
program
consideration
establish
force on
result

total

costly
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emerge
deep

prior

useful
journey
describe
strategic
mission
competitive
opportunities
environment
strengths
weaknesses
strategies
congruent
model
Implement
allocate

to implement
mean

vision
committed

innovation

appear
profound
previous
beneficial
trip

explain
policy
function
challenging
chances
surrounding
potency
deficiencies
techniques
coordinated
design
execute

allot, assign

apply, use, execute

signify
eyesight
the voted

new
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The task of analyzing the organization’s external and internal environment (location
Surroundings) and then selecting appropriate (Befitting seemly) strategies is known as strategy
formulation.
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In contrast, strategy implementation involves putting the strategies (or plans (Scheme,
program me)) into action.
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This includes taking actions consistent (Compatible, conforming) with the selected strategies of
the company at the corporate, business, and functional level, allocating roles and
responsibilities among managers (typically through the design of organization structure
(Construction, composition)), allocating resources (including capital and people), setting short-
term objectives, and designing the organization’s control and reward systems.
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These steps are illustrated (demonstrate) in Figure 1.2 (which can also be viewed as a plan for
the rest of this book).
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Each step in Figure 1.2 constitutes a sequential step in the strategic planning process
(procedure).
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At step 1, each round or cycle of the planning process begins with a statement of the corporate
(company) mission and major (main) corporate goals.
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As shown in Figure 1.2, this statement (assertion, explanation) is shaped by the existing
business model of the company.
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The mission statement is followed by the foundation (Base) of strategic thinking: external
analysis, internal analysis, and strategic choice (selection).
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The strategy- making process ends with the design of the organizational structure, culture
(cultivation), and control systems necessary to implement the organization’s chosen strategy.
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Some organizations go through a new cycle (rotation) of the strategic planning process every
year.

AR e s Ak Akl 8 ) gaaa 5 45 o 3l Al A B Gla b A
This does not necessarily mean (signify) that managers choose a new strategy each year.
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In many instances, the result is simply (plainly) to modify and reaffirm a strategy and structure
already in place.
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The strategic plans generated by the planning process generally look out over a period of 1to 5
years, with the plan being updated, or rolled forward (prioritize), every year.
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In most organizations, the results of the annual (yearly) strategic planning process are used as
input into the budgetary process for the coming year so that strategic planning is used to shape
resource (Supply, reserve) allocation within the organization.
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Mission Statement

The first component (part) of the strategic management process is crafting the organization’s
mission (commission) statement, which provides the framework or context within which
strategies are formulated.
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A mission statement has four main components: a statement of the raison d’étre of a
company or organization— its reason (cause) for existence which is normally referred to as the
mission; a statement of some desired future state, usually referred to as the vision; a
statement of the key values that the organization is committed to; and a statement of major
goals (aim).
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For example, the current mission of Microsoft is to “to enable people and business

Throughout the world to realize (Know, comprehend) their full potential.
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” The vision of the company— the overarching goal— is to be the major player in the software
industry (craft).
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The key values that the company is committed to include “integrity (uprightness) and honesty”,

"

“passion for our customers, our partners, and out technology”, “openness and respectfulness,”

and “taking on big challenges (invitation) and seeing them through.
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” Microsoft’s mission statement has absolutely (utter) set the context for strategy formulation
within the company.
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Thus, the company’s perseverance (diligence) first with Windows, and now with X- box, both

of which took a long time to bear fruit, exemplifies the idea (theory, notion) of “taking on big
challenges and seeing them through.
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”6We shall return to this topic and discuss it in depth (profundity) in the next chapter.
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External Analysis

The second component of the strategic management (executives) process is an analysis of the
organization’s external operating environment.
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The essential purpose of the external analysis is to identify strategic opportunities and threats
in the organization’s operating environment that will affect how it pursues (follow) its mission.
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Three interrelated environments should be examined (study) at this stage: the industry
environment in which the company operates, the country or national environment, and the
wider (extensive) socioeconomic or macro- environment.

baa (a3 oo cllad Ay Sl O 3 A4S ades Juaa 1l gl o) Al Ja e Jaisa A Al ja () 2
O Jaa b g gala) elaial iod ol Juaa g e b ) S

Analyzing the industry environment requires an assessment (evaluation) of the competitive
structure of the company’s industry, including the competitive (competition) position of the
company and its major rivals.
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It also requires (need) analysis of the nature, stage, dynamics, and history of the industry.
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Because many markets are now global (worldwide) markets, analyzing the industry
environment also means assessing the impact (influence) of globalization on competition
within an industry.
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Such an analysis may reveal (uncover) that a company should move some production facilities
(convenience) to another nation, that it should aggressively expand in emerging markets such
as China, or that it should beware of new competition from emerging nations.
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Analyzing the macro- environment consists of examining macroeconomic, social, government,
legal (lawful), international, and technological factors (element) that may affect the company
and its industry.
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We consider (study) these issues in Chapters 3 and 6 (where we discuss global issues).
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Internal Analysis

Internal analysis, the third component of the strategic planning process, serves to pinpoint the
strengths (power) and weaknesses of the organization.
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Such issues as identifying the quantity (quantum) and quality of a company’s resources and

capabilities and ways of building unique skills and company-specific (particular) or distinctive
competencies are considered here when we probe the sources of competitive advantage.
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Building and sustaining a competitive advantage (benefit) requires a company to achieve
superior (excellent) efficiency, quality, innovation, and responsiveness to its customers.
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Company strengths lead to superior performance in these areas, whereas company
weaknesses (debility, asthenia) translate into inferior performance.
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We discuss these issues in chapter 4.
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1. What'’s the main idea of this text?

a) the task of selecting appropriate strategies such as strategy formulation and
implementation

b) marketing process

C) management process

d) organizational behavior

2. What can you get from this text?

a) ldentify strategic opportunities and threats in the organization’s operating
environment

b) Assessment of the competitive structure of the company’s industry

¢) Building and sustaining a competitive advantage requires a company to achieve
superior efficiency, quality, innovation, and responsiveness to its customers

d) Analysis of the nature, stage, dynamics, and history of the industry

3. Make a list about managerial terms with their meanings:

-organization’s external environment: e S (5 Jae
-organization’s internal environment: e jbs A T
-strategy formulation: ) g
-strategy implementation: S ISRTIN" Y
-Corporate: S

-functional level: I SS o
-organization structure: it Sl pedans
-Resources: &le

-Capital: agla yus
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-organization’s control systems: e b JES ol i
-organization’s reward systems: Ola b (23 AL (sl aie
-strategic planning process: )y (6 ) 4l 2l
-Statement of the corporate mission: S ) sale e
-major corporate goals: Gl lal Gl
-external analysis: 29w Jilas

-internal analysis: 990 Jalas

-strategic choice: sl s au R
-organizational structure: e b sl
-organizational culture: el K

-annual strategic planning process: Al (521 5 (5 ) 4ali il A
4. Read the text and answer these questions.

S.

2)

What we call the task of analyzing the organization’s external and internal
environment and selecting appropriate strategies? We call it strategy formulation.
What’s the strategy implementation about? It’s about putting the strategies (or
plans) into action.

How mission statement of the company is shaped? It is shaped by the existing
business model of the company.

What are the foundations of strategic thinking? They are external analysis, internal
analysis, and strategic choice.

What is the end of strategy- making process? It ends with the design of the
organizational structure, culture, and control systems necessary to implement the
organization’s chosen strategy.

How are used the results of the annual strategic planning process in most
organizations? They are used as input into the budgetary process for the coming year.
What's the first component of the strategic management process? It is crafting the
organization’s mission statement, which provides the framework or context within
which strategies are formulated.

Read the text carefully and choose the correct answer.
How many components does have a mission statement?
2

b) 3

c)

4

d) 5
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- What's a statement of some desired future state?
a) Mission

b) vision

c) goals

d) aims

- This mission statement belongs to which company? “to enable people and business
throughout the world to realize their full potential.”:

a) Microsoft

b) Apple

¢) Yahoo

d) Face book

€)

- What's the second component of the strategic management process?

a) analysis of internal environment

b) analysis of the organization’s environment

c¢) analysis of the organization’s external operating environment

d) analysis of the organization’s operating environment

- Which country is known as an emerging market?
a) Thailand

b) India

¢) Brazil

d) China

- Which one is the third component of the strategic planning process?
a) External analysis

b) internal analysis

c) environment analysis

d) operating analysis

- Which ones lead to superior performance?
a) Company strengths

b) Company weaknesses

c) inferior performances

d) good ideas

- Which one involves putting the strategies (or plans) into action?
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a) strategy formulation

b) b) strategy implementation
c) c) analysis

d) d) comparison

- Which one regarded as a resource?
a) Objectives

b) goals

C) aims

d) people

- The strategic plans generated by the planning process generally look out over which

period?
a) 2to5
b) 1t05
c) 1to4
d) 1to6

6. Match the words

1. The task of analyzing the organization’s
external and internal environment and then
selecting appropriate strategies (e)

a. capital and people

2.1t involves putting the strategies (or plans) into
action(q)

b. the
design of the organizational
structure, culture, and control

statement is followed by....(y)

systems
3. resources are including(a) c. 1to 5 years
4. The mission d. the

overarching goal

5. The strategy- making process ends with....(b)

e. strategy formulation

6. The strategic plans generated by the planning
process generally look out over a period of....(c)

f. an analysis of the organization’s
external operating
environment

7. The first component of the strategic
management process

Is(r)

g. country or national
environment

8. a statement of some

h. China
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desired future state, usually referred to as the...(x)

9. One of the key values i. superior performance

that the company is committed to....(I)

10. Windows, X- box belongs to this j. assessing the impact of
company....(w) globalization on

competition within an industry

11. The second component of the strategic k. goals
management process

Is.....()

12. The essential . values

purpose of the external analysis is...(V)

13. In which the company operates is called...(g) m. Internal analysis

14.Wider environment(u) n. passion for our
customers
15.It’s an emerging market (h) o. inferior performance

16. the third component of the strategic planning p. objectives
Process is...(m)

17. Company strengths lead to this(i) g. strategy implementation
18. company r. mission statement
weaknesses translate into this(o)

19. Because many markets are now global s. functional level

markets, analyzing
the industry environment also means(j)

20. The vision of the company means...(d) t. Thailand

u. macro- environment

v. to identify strategic
opportunities and threats

w. Microsoft

X. vision

y. the foundation of strategic
thinking

7. Choose the best answer

year. This does not necessarily mean that (...2...) choose a new strategy each year. In
many instances, the result is simply to modify and reaffirm a strategy and structure
already in (...3...). The strategic plans generated by the planning process generally
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look out over a (...4...) of 1 to 5 years, with the plan being updated, or (...5...) forward,
every year. In most organizations, the results of the (...6...) strategic planning (...7...)
are used as (...8...) into the budgetary process for the coming year so that strategic
planning is used to shape (...9...) allocation within the (...10...).

1. a) round b) cycle c) period d) cycling
2. a) management b) stockholders  c)costumers d) managers
3. a) place b) position C) situation d) palace
4. a)year b) decade C) period d) time

5. a) cycled b)twisted c) took d) rolled

6. a) annual b) binary C) years d) month

7. a) procedure b) level C) process d) project
8. a) output b) input C) process d) budget
9. a) resource b) source c) place d) sources
10.a) corporate  b) client c) management  d) organization
8. Fill the blanks.

At (step) 1, each (round) or cycle of the planning process (begins) with a statement
of the corporate (mission) and major corporate goals.

This (statement) is (shaped) by the existing business (model) of the (company).

The strategy- making process (ends) with the design of the (organizational) structure,
culture, and control (systems) necessary to implement the organization’s (chosen)
strategy.

This does (not) necessarily mean that (managers) choose a new (strategy) each
(year).

In many (instances), the result is simply to (modify) and reaffirm a strategy and
(structure) already in (place).

- In most organizations, the (results) of the annual strategic planning process are used as

input into the (budgetary) process for the coming year so that (strategic) planning is
used to shape resource (allocation) within the organization.

A mission statement has four main (components): a statement of the raison d’étre of
a company or organization— its (reason) for existence— which is normally referred
to as the (vision); a statement of some desired future state, usually referred to as the
vision; a statement of the key values that the organization is (committed) to; and a
statement of major goals.

Microsoft’s mission (statement) has (absolutely) set the (context) for strategy
(formulation) within the company.
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The (second) component of the strategic (management) process is an (analysis) of
the organization’s external (operating) environment.

The (essential) purpose of the external analysis is to identify strategic (opportunities)
and threats in the organization’s operating (environment) that will affect how it
(pursues) its mission.

It also (requires) analysis of the (nature), stage, dynamics, and (history) of the
(industry).

9. Choose True or False.

strategy implementation is the task of analyzing the organization’s external and
internal environment and then selecting appropriate strategies. F

Resources are including capital and people. T

Each round or cycle of the planning process begins with a statement of the
corporate vision. F

The mission statement is followed by the foundation of strategic thinking. T

The strategy- making process begins with the design of the organizational
structure, culture, and control systems necessary to implement the organization’s
chosen strategy. T

10.What’s the meaning of underlined words?

- selecting appropriate strategies is known as strategy formulation

a) Choosing methods

b) Analyzing and selecting appropriate strategy

c¢) Gathering ways

d) Finding strategy

- The mission statement is followed by the foundation of strategic thinking.
a) major corporate goal

b) business model of the company

c) strategic choice

d) the foundation of company
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- the results of the annual strategic planning process are used as input into the
budgetary process.

a) New year

b) two years

C) one year
d) years

- It usually referred to as the vision.

a) a statement of some desired future state
b) statement of the key values

c) astatement of major goals

d) mission statement

9. Choose the best answer.

- What’s the result of company strengths?
a) inferior performance

b) superior performance

C) income

d) more taxes

- What's the result of company weaknesses?
a) More taxes

b) Inflation

c) Inferior performance

d) Superior performance

-What's the third component of the strategic planning Process?
a) Internal analysis

b) External analysis
c) Strategy making
d) Competition




58

-What's the end of strategy- making process?
a) Mission statement

b) Vision

¢) Globalization

d) Design of the organizational structure
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Component
Mission
Reason
Goals
Realize
Industry
integrity
challenges
absolutely
Perseverance
Idea

depth
Management
Pursues
Examined
Wider
Assessment
Competitive
Requires
Global
Impact
Reveal
Facilities
Legal
Factors
Consider

Strengths

part
commission
cause

aim

Know, comprehend

craft
uprightness
invitation
utter
diligence
theory, notion
profundity
executives
follow
study
extensive
evaluation
competition
need
worldwide
influence
uncover
convenience
lawful
element
study

power
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Quantity quantum SIPA
Specific particular oala
Advantage benefit )
Superior excellent Se
Weaknesses debility, asthenia Caria
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SWOT Analysis

The next component of strategic thinking requires the generation of a series of strategic
alternatives, or choices of future strategies to pursue, given the company’s internal strengths
and weaknesses and its external opportunities and threats.
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The comparison of strengths, weaknesses, opportunities, and threats is nor-mally
referred to as a SWOT analysis.
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Its central purpose is to identify the strategies that will create a company- speciic business
model that will best align, it , or match a company’s resources and capabilities to the
demands of the environment in which it operates.
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Managers compare and contrast the various alternative possible strategies against each
other with respect to their ability to achieve competitive advantage .
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Thinking strategically requires managers to identify the set of strategies that will cre-ate
and sustain a competitive advantage:
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*Functional- level strategy, directed at improving the effectiveness of operations within

a company, such as manufacturing, marketing, materials management ,product
development, and customer service.
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We consider functional- level strategies in Chapter 4.
s oSee Tobe £ S 3 1) 63,18 maw Bl b

*Business- level strategy, which encompasses the business’s overall competitive theme,
the way it positions itself in the marketplace to gain a competitive advantage, and the
different positioning strategies that can be used in different industry settings— for
example, cost leadership, differentiation, focusing on a particular niche or segment of the
industry, or some combination of these.
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We consider business- level strategies in Chapter 5.
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*Global strategy, addressing how to expand operations outside the home country to
grow and prosper in a world where competitive advantage is determined at a global level.
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We consider global strategies in Chapter 6.
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*Corporate- level strategy, which answers the primary questions: What business or
businesses should we be in to maximize the long- run proi tability and profit growth of the
organization, and how should we enter and increase our presence in these businesses to
gain a competitive advantage? We consider corporate- level strategies in Chapters 7 and
8.
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The set of strategies identii ed through a SWOT analysis should be congruent with each
other.
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Thus, functional- level strategies should be consistent with, or support, the business- level
strategy and global strategy of the company.
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Moreover, as we explain later in this book, corporate- level strategies should support
business- level strategies.
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Strategy Implementation Having chosen a set of congruent strategies to achieve a
competitive advantage and increase performance, managers must put those strategies
into action: strategy has to be implemented.
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Strategy implementation involves taking actions at the functional, business and corporate
level to execute a strategic plan.
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Thus implementation can include, for example, putting quality improvement programs
into place, changing the way a product is designed, posi-tioning the product differently in
the marketplace, segmenting the marketing and offering different versions of the product
to different consumer groups, implement-ing price increases, or decreases, expanding
through mergers and acquisitions, or

downsizing the company by closing down or selling off parts of the company. All of this and
much more is discussed in detail in Chapters 4-8.
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SWOT Analysis

The comparison of strengths, weaknesses opportunities, and threats Strategy
implementation also entails designing the best organization structure, culture, and control
systems to put a chosen strategy into action.
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We discuss the organization structure, culture, and controls required to implement
strategy in Chapters 8 and 9.
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The Feedback Loop
2,953k adl>
The feedback loop in Figure 1.2 indicates that strategic planning is ongoing: it never ends.
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Once a strategy has been implemented, its execution must be monitored to determine the
extent to which strategic goals and objectives are actually being achieved and to what
degree competitive advantage is being created and sustained .
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This information and knowledge is passed back up to the corporate level through feedback
loops and become the input for the next round of strategy formulation and
implementation.
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Top managers can then decide whether to reaffirm existing strate-gies, and goals, or
suggest changes for the future.
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For example, a strategic goal may prove to be too optimistic, and so the next time a more
conservative goal is set.
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Or feedback may reveal that the strategy is not working, so managers may seek ways to
change it.
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Strategy as an Emergent process
S 3930 Sl 8 S Glginy (51 pawl

The basic planning model suggests (offer) that a company’s strategies are the result of a
plan, that the strategic planning process itself is rational (logical) and highly structured,
and that the process is orchestrated (to coordinate) by top management.
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Several scholars have criticized (demanded) ( the formal planning model for three main
reasons: the unpredictability (unstable) of the real world, the role that lower- level
managers can play in the strategic management process, and the fact that many
successful strategies are often the result of serendipity (accident), not rational
strategizing.
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They have advocated (participated) an alternative view of strategy making .
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Strategy Making in an Unpredictable World
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Critics of formal planning systems argue (to discuss) that we live in a world in which
uncertainty (doubt) ,complexity, and ambiguity (vagueness) dominate, and in which small
chance events can have a large and unpredictable impact (effct) on outcomes.
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In such circumstances, they claim(maintain), even the most carefully thought- out

strategic plans are prone to being rendered(planning) useless(vain) by rapid and
unforeseen change.

«? u"‘)l" 3L LSIs‘é cddy b as «:;i):",):“‘" S (5 aliy g Wyl sl LQ"‘ sSLogl (w5
.MQD%@d@ﬁgwuﬁxdg@”iabﬂéﬁwlgqﬁgﬁ

In an unpredictable world, there is a premium(profits) on being able to respond quickly to
changing circumstances, altering the strategies of the organization accordingly.
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A dramatic example of this occurred in 1994 and 1995 when Microsoft’s CEO

Bill Gates shifted the company strategy after the unanticipated emergence (appearance) of
the World Wide Web (see the Strategy in Action feature).
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According to critics of for-mal systems, such a flexible approach(advance) to strategy
making is not possible within the framework of a traditional (conventional) strategic

planning process, with its implicit(to denote) assumption that an organization’s strategies
need to be reviewed(to control) only during the annual strategic planning exercise.
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A- Which choice will be the best synonym for the underlined word?
A-1:  The comparison of strengths, weaknesses, opportunities, and threats is
normally referred to as a SWOT analysis.
a:violence *b :danger c :crime d :against

A-2:  Global strategy, addressing how to expand operations outside the home
country to grow and prosper in a world where competitive advantage is determined
at a global level.

*a: develop b: search c: return d: talk about

A-3: Managers compare and contrast the various alternative possible strategies
against each other with respect to their ability to achieve competitive advantage.
a: shape b: size *c: several d: formal

B-what is the main idea of the paragraph?

SWOT Analysis The next component of strategic thinking requires the generation of a series of strategic
alternatives, or choices of future strategies to pursue, given the company’s internal strengths and
weaknesses and its external opportunities and threats. The comparison of strengths, weaknesses,
opportunities, and threats is normally referred to as a SWOT analysis. Its central purpose is to identify the
strategies that will create a company- specific business model that will best align, it , or match a company’s
resources and capabilities to the demands of the environment in which it operates. Managers compare and
contrast the various alternative possible strategies against each other with respect to their ability to achieve

competitive advantage.

B-1:To perform a SWOT analysis what do the managers do in the real environment?

A: They follow a competitive advantage.
B: They choose future strategies and weaknesses.
C: They create a company —specific business model.
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*D: Managers compare and contrast the various alternative possible strategies
against each other with respect to their ability to achieve competitive advantage.

C-paragraph conclusion
C-1: what should the companies do for achieving the best competitive advantage?

A: ldentify a strategy that will create the best align.

B: Identify a strategy that will create the best business model
C: use a business strategy.
*D: choose different strategies in a congruent manner.

D-reading comprehension

D-1: what is the result of performing SWOT analysis in company?

A: Determining strengths and weakness in the company

*B: match a company's resources and capabilities to the demands of environment
in the best way.

C: identify the set of strategies.

D: respect to abilities of others companies.

D-2: How to gain a competitive advantage against the others companies in your
country is mentioned in:

A: functional level strategy

B: global strategy

C: corporate level strategy

*D: business level strategy and corporate level strategy

D-3: which sentence is true?
A: companies can choose several different strategies at the same time
*B: the set of strategies in a SWOT analysis should be congruent with each other
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C: itis not necessary to choose the strategies that can support each other well
D: just corporate level strategies should support business level strategies

D-4: Studying about how to lead costs is discussed in:
*A: business level strategy
B: global strategy
C: corporate level strategy
D: functional level strategy
E: Answer the following questions.
E-1: what is central purpose or main purpose of SWOT analysis?
E-2: what do the managers do to perform SWOT analysis in the real environment?
E-3: what subjects are discussed in functional level strategy?
E-4: what is corporate —level strategy discussed about?
E-5: what is the main important point in choosing a set of different strategies?
E-6: why is formal planning model criticized?
E-7: dose strategy implementation entail designing the best culture and control
system or not?

F: Match each word with its meaning.

Home country Birth place
B sustain 3= prosper | 20= Market place | 17 Beside
@ identify 5= theme | 21= Keep | 18 Match
D opportunity 1= threat | 16= Power | 19 Danger
E purpose 8= align | =18 Recognize | 20 Be successful
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F overall | 24= 6 superseded | 21 Subject

G external | =12 7 Achieve | 22 Different

H component | 15= 8 Goal | 23 Business
advantage | 13= 9 Consistent | 24 General

J demand | 10= 10 Request | 25 superior

K contrast | 14= 11 Skill

L strength 4= 12 Outside

M resource | 11= 13 Benefit

N alternative 6= 14 Compare

0 various | 22= 15 part

G: fill in the blanks with the best choice(cloze test)

The comparison of strengths, weaknesses, opportunities, and threats is normally --
-1 to as a SWOT analysis. Its central ----- 2--—-- is to identify the strategies that will
create a company specific business model that will best align, it , or match a
company’s resources and capabilities to the demands of the environment in which it
operates. Managers compare and contrast the various alternative possible strategies
————— 3--—- each other with respect to their ability to --—----4----- competitive advantage
.Thinking strategically ----- 5--—-- managers to identify the set of strategies that will
create and --—- 6---—-- a competitive advantage. Functional - level strategy ~ --—--- 7---
--at improving the effectiveness of operations within a company, such as
manufacturing, marketing, materials management, product development, and
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customer service. Business- level strategy, which encompasses the business’s -----8--
--- competitive theme, the way it ----- 9---- itself in the marketplace to gain a
competitive advantage, and the different positioning strategies that can be used in
different industry settings— for example, cost leadership, differentiation, focusing

on a particular niche or ------ 10----- of the industry, or some combination of these.
G-1: * a: referred b: explained C: said d: pored

G-2: a: main *b: purpose c:idea d: difference

G-3 a: reverse b: same c:congruent  *d:against

G-4 a: have b: be * c:achieve d: use

G-5 * a:requires b: concerns c: worries  d: confirms

G-6 a: produce b: try c:*sustain  d: use

G-7 a: identified b:* directed  c: used d: earned

G-8 a: trade b: whole c:inall d:* overall

G-9 a: *positions b: styles c: places d: moods
G10 a: whole b: overall c: *segment d: difference

H: check the sentences true or false.

H-1: in SWOT analysis central purpose is to identify the strategic that will create
company specific business model. T/F
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H-2: In functional strategy, we are talking about how to expand operations outside
at home country. T/F

H-3: how to gain the "competitive advantage "is discussed in both business and
corporate strategy. T/F

H-4:"SWOT analysis" includes just how to expend operations inside of your country.
T/E

H-5: Central purpose in a SWOT analysis is choosing strategies that will match a
company's resources to demands. T/F

H-6: The set of strategies shouldn't be congruent with each other. T/F

H-7: functional strategy can help as to improve the effectiveness of operation in a
company. T/F

H-8: Marketing, manufacturing, subjects aren't discussed in functional strategy. T/F

H-9: The way that a company positions itself in the marketplace is discussed in
corporate strategy. T/F

H-10: Functional strategy should be consistent with business strategy but not with
global strategy. T/F

I: Choose the best appropriate word for each sentence.
I-1: The set of strategies identified through a SWOT analysis should be--------------
with each other.

A: profit *b: congruent c: focusing d: competitive

[-2: Managers compare and ---------------- the various alternative possible strategies
against each other.
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A: agree b: accept c: match *d: contrast

[-3: In global strategy we are talking about how to --------- operation outside the
home country.

*A: expand b: business c: gain d: consider

[-4: Businessmen should maximize the long-run ----------- and profit growth of
organization.

A: primary * b: profitability C: presence d: outside

I-5: Functional strategy should be --------- with business and global strategy.

A: against b: primary *c: consistent d: overall

R is talking about how to expand operations outside the home county.
*A: Global strategy  b: corporate c: business d: functional

I-7: The way that a company can enter and increase the presence in business world
is talked in ---------- .
A: Functional strategy  b: business * c:corporate d: functional &business

I-8: After choosing consistent strategies they have to be ---------- :

A: congruent *b: implemented c: achieve d: profit

[-9: Strategies implementation involves actions at --------- business and corporate
level.

A: Designing b: functional c: quality *d: A&B

[-10: Once a strategy has been implemented its execution must be ---------- .
A: Decided b: achieved C: new * d: monitored
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J: Management expressions and their translations

Strategic alternatives
Competitive advantage
Thinking strategically

Functional- level strategy
Manufacturing
Marketing

Materials management
Product development
Customer service
Marketplace

Business- level strategy
Cost leadership
Corporate- level strategies
Organization structure
Long- run profitability

Quality improvement
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Feedback loop

Top managers

Strategic planning

Planning systems
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component
pursue
referred
purpose
align
compare
various
sustain
directed
encompasses
overall
combination
expand
prosper

profit

increase

presence

one part
follow
mentioned
aim

equal
measure
different
support
lead
include

all over
compound
develop
thrive

benefit

expansion

attendance
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congruent
consistent
Implementation
performance
offering
consumer
acquisitions
designing
discuss
ongoing
loops
Emergent
suggests
rational
orchestrated
criticized
unpredictability
serendipity
advocated
impact

claim
rendered
useless
premium
emergence

approach

agreeing
constant
performance
execution
present
customer
attainment
modeling
consider
progressing
rings
budding
offer

logical

to coordinate
demanded
unstable
chance
participated
effect
maintain
present
vain

award
coming out

advance
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Autonomous Action: Strategy Making by Lower- Level Managers
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Another criticism leveled at the rational planning model of strategy is that too much
importance is attached to the role of top management, and particularly the CEO.
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An alternative view now widely accepted is that individual employees deep within an
organization can and often do exert a profound influence over the strategic direction of the
firm.
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Writing with Robert Burgelman of Stanford University, Andy Grove, the former CEO of Intel,
noted that many important strategic decisions at Intel were initiated not by top managers
but by the autonomous action of lower-level managers deep within Intel—that is, by lower-

level managers, who on their own initiative, formulated new strategies and worked to
persuade top-level managers to alter the strategic priorities of the firm.
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At Intel, strategic decisions that were initiated by the autonomous action of lower- level
managers included the decision to exit an important market (the DRAM memory chip
market) and develop a certain class of microprocessors (RISC- based microprocessors) in
direct contrast to the stated strategy of Intel’s top managers.
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The Strategy in Action feature tells how autonomous action by two young employees drove
the evolution of Microsoft’s strategy toward the Internet.
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In addition, the prototype for another Microsoft product, the X- box video game system, was
developed by four lower-level engineering employees on their own initiative.
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They subsequently successfully lobbied top managers to dedicate resources to
commercialize their prototype.
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Autonomous action may be particularly important in helping established companies to deal
with the uncertainty created by the arrival of a radical new technology that changes the
dominant paradigm in an industry.
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Top managers usually rise to preeminence by successfully executing the established strategy
of the firm.

As such, they may have an emotional commitment to the status quo and are often unable
to see things from a different perspective. In this sense, they are a conservative force that
promotes inertia.
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Lower- level managers, however, are less likely to have the same commitment to the status
guo and have more to gain from promoting new technologies and strategies within the firm.
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As such, they may be the ones to first recognize new strategic opportunities (as was the case
at Microsoft) and lobby for strategic change.
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Serendipity and Strategy
SH Ll 9 Cudogd puu

Business history is replete with examples of accidental events that help to push companies

in new and profitable directions.
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What these examples suggest is that many successful strategies are not the result of well-

thought- out plans but of serendipity, that is, stumbling across good things unexpectedly.

One such example occurred at 3M during the 1960s.
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At that time, 3M was producing fluorocarbons for sale as coolant liquid in air- conditioning
equipment. One day, a researcher working with fluorocarbons in a 3M lab spilled some of
the liquid on her shoes.
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Later that day when she spilled coffee over her shoes, she watched with interest as the
coffee formed into little beads of liquid and then ran off her shoes without leaving a stain.
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Reflecting on this phenomenon, she realized that a fluorocarbon- based liquid might turn

out to be useful for protecting fabrics from liquid stains, and so the idea for Scotch Guard
was born.
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Subsequently, Scotch Guard became one of 3M’s most profitable products and took the
company into the fabric protection business, an area it had never planned to participate in.
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Serendipitous discoveries and events can open up all sorts of profitable avenues for a
company.
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But some companies have missed out on profitable opportunities because serendipitous
discoveries or events were inconsistent with their prior (planned) conception of what their
strategy should be.
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In one of the classic examples of such myopia, a century ago the telegraph company Western
Union turned down an opportunity to purchase the rights to an invention made by Alexander
Graham Bell.
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The invention was the telephone, a technology that subsequently made the telegraph
obsolete.
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Complete the following sentences with the best choice of a, b, c or d:

An alternative view now widely accepted is that individual employees deep within an organization can and
often...

attached to the role of top management, and particularly the CEO.

lobbied top managers to dedicate resources to commercialize their prototype.

Do exert a profound influence over the strategic direction of the firm.

usually rise to preeminence by successfully executing the established strategy of the firm.

Another criticism leveled at the rational planning model of strategy is that...
too much importance is attached to the role of top management, and particularly the CEQ.
tells how autonomous action by two young employees drove the evolution of Microsoft’s strategy toward

the Internet.
rise to preeminence by successfully executing the established strategy of the firm.
have more to gain from promoting new technologies and strategies within the firm.

Business history is replete with examples of accidental events that...
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is, stumbling across good things unexpectedly. One such example occurred at 3M during the 1960s.
help to push companies in new and profitable directions.
ran off her shoes without leaving a stain.

working with fluorocarbons in a 3M lab spilled some of the liquid on her shoes.

Top managers usually rise to preeminence by...

new technology that changes the dominant paradigm in an industry.
they are a conservative force that promotes inertia.

successfully executing the established strategy of the firm.

good things unexpectedly.

What is main idea context?

Business history is replete with examples of accidental events that help to push companies in new and
profitable directions. What these examples suggest is that many successful strategies are not the result of
well-thought-out plans but of serendipity, that is, stumbling across good things unexpectedly. One such
example occurred at 3M during the 1960s.

Business history has events that many successful strategies.

The example occurred at 3m during the 60s was well-thought-out plans.

Business history contain examples of unsuccessful strategies but serendipity stumbled across good things

unexpectedly.
Business history is replete with examples of accidental successful strategies.

The invention was the telephone, a technology that subsequently made the telegraph obsolete.
Outdated

Poor sight

share

opportunity

Lower- level managers, however, are less likely to have the same commitment to the status quo and have
more to gain from promoting new technologies and strategies within the firm.

sense

get

conservative

established

they may have an emotional commitment to the status quo and are often unable to see things from a
different perspective.

gain

promote

Current situation
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radical

They subsequently successfully lobbied top managers to dedicate resources to commercialize their
prototype.

action

then

persuade

priority

. What deduction can be?

Writing with Robert Burgelman of Stanford University, Andy Grove, the former CEO of Intel, noted that
many important strategic decisions at Intel were initiated not by top managers but by the autonomous
action of lower-level managers deep within Intel—that is, by lower-level managers, who on their own
initiative, formulated new strategies and worked to persuade top-level managers to alter the strategic
priorities of the firm.

Lower-level managers formulated new strategies

Lower-level managers noted that many important strategic decisions.

Lower-level managers persuade top-level managers to formulated new strategies.
Lower-level managers persuade top-level managers to noted important strategic decisions.

Please answer these questions:

What is the rational planning model of strategy?
The rational planning model of strategy is attached to the role of top management

What is the alternative view widely model of strategy?
An alternative view widely model of strategy is that individual employees deep within an organization can
and often do exert a profound influence over the strategic direction of the firm.

Were many important strategic decisions at Intel initiated by top managers?
No they were not. important strategic decisions at Intel initiated by lower-level managers deep within Intel.

What is business history replete?
Business history is replete with examples of accidental events that help to push companies in new and

profitable directions.

How does scotch guard became one of 3M’s most profitable product?
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A researcher working with fluorocarbons in a 3M lab spilled some of the liquid on her shoes. Later that

day when she spilled coffee over her shoes, she watched with interest as the coffee formed into little

beads of liquid and then ran off her shoes without leaving a stain.

Which events can open up all sorts of profitable avenues for a company?

Serendipitous discoveries and events can open up all sorts of profitable avenues for a company.

Why some companies have missed out on profitable opportunities?

Cause serendipitous discoveries or events were inconsistent with their prior (planned) conception of what

their strategy should be.

Match the synonyms:

Autonomous
Criticism
Rational
Particularly
Individual
Profound
Firm

Initiate
Initiative

. Persuade
. Priority

. Contrast
. Feature

. Drove

. Toward

. Lobby

. Dedicate
. Commercialize
. Arrival

. Executing

a. Free

b. Analysis
c. Logical

d. Especially
e. Singular

f. Thoughtful
g. Company
h. Start

i. Idea

j. Convince
k. Importance
|. Difference
m. Attribute
n. Group

0. Near

p. Push

g. Offer

r. Popularize
s. Entrance
t. Complete
u. Forceful
v. Viewpoint
w. Careful

X. Get

y. Further
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D. Cloze test:

Another ...1... leveled at the rational planning model of strategy is that too much importance is attached
to the role of top management, and ...2... the CEQ. An alternative view now widely accepted is that ...3...
employees deep within an organization can and often do ...4... a profound influence over the strategic
direction of the firm.

At Intel, strategic ...5... that were initiated by the autonomous action of lower- level managers included
the decision to exit an important ...6... (the DRAM memory chip market) and develop a certain class of
microprocessors (RISC- based microprocessors) in direct ...7... to the stated strategy of Intel’s top
managers. The Strategy in Action ...8... tells how autonomous action by two young employees drove the
evolution of Microsoft’s strategy ...9... the Internet.

Top managers usually rise to ...10... by successfully executing the established strategy of the firm.

1. a) Analysis b) Free c) Singular d) Way

2. a) Logical b) Apply ¢) Especially d) Effect

3. a) Thoughtful b) Company c) Start d) Singular

4. a) Apply b) Act c) Difference d) Development
5. a) Straight b) Near c) Attribute d) Choice

6. a) Straight b) Shop c) Group d) Staff

7. a) Sample b) Popularize c) Difference d) Development
8. a) Specific b) Traditional c) Excellence d) Attribute

9. a) Near b) Straight c) Development d) Promise

10. a) Basic b) Forceful ¢) Excellence d) Model
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Autonomous Free Jiinne
Criticism Analysis &
Rational Logical ke
Attached N
Particularly Especially Lis guniie
Alternative Replacement BN
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Individual
Exert
Profound
Direction
Firm
Within
Influence
Former
Important
Initiate
Initiative
Formulate
Persuade
Alter
Priority
Decision
Action
Included
Market
Develop
Certain
Direct
Contrast
Stated
Feature
Employee

Drove

Singular
Apply
Thoughtful
Way
Company
Inside
Effect
Previous
Vital

Start

Idea
Create
Convince
Change
Importance
Choice

Act
Contained within
Shop
Improve
Specific
Straight
Difference
Specified
Attribute
Staff

Group

s

s
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Evolution
Toward
Prototype
Action
Subsequently
Lobby
Dedicate
Resource
Commercialize
Particularly
Established
Uncertainty
Arrival
Radical
Dominant
Paradigm
Preeminence
Executing
Rise
Commitment
Status quo
Perspective
Sense
Conservative
Promote
Inertia

Gain

Development
Near
Sample
Act

Then

Push
Offer
Reserve
Popularize
Mostly
Traditional
Doubt
Entrance
Basic
Forceful
Mode
Excellence
Complete
Start

Promise

Current Situation

Viewpoint
Meaning
Careful
Further
Inactivity

Get
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Recognize
Opportunity
Replete
Accidental
Profitable
Well-thought-out
Stumbling
Unexpectedly
Serendipity
Equipment
Spill

Interest

Stain
Reflecting
Phenomenon
fabric
Participate
Avenue
Inconsistent
Prior
Conception
Myopia

Obsolete

Know
Chance
Full
Unplanned
Moneymaking
Carefully Planed
faltering
Suddenly
Destiny
Tools

Fall

Notice
Color
Shiny

Fact
material
Share
Possibility
Conflicting
Previous
Idea

Poor Sight

Outdated
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Intended and Emergent Strategies
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Henry Mintzberg has proposed a model of strategy development that provides a more
encompassing view of what strategy actually is
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According to this model, illustrated in Figure 1.3, a company’s realized strategy is the
product of whatever planned strategies are actually put into action (the company’s
deliberate strategies) and of any unplanned, or emergent, strategies.
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illustrate=explain realize=comprehend=recognize

In Mintzberg’s view, many planned strategies are not implemented due to unpredicted
changes in the environment (they are unrealized).

Emergent strategies are the unplanned responses to unforeseen circumstances.
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They arise from autonomous action by individual managers deep within the organization,

from serendipitous discoveries or events, or from an unplanned strategic shift by top-
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level managers in response to changed circumstances. They are not the product of
formal top- down planning mechanisms.
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Mintzberg maintains that emergent strategies are often successful and may be more
appropriate than intended strategies.
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Moreover, as Mintzberg has noted, strategies can take root virtually wherever people
have the capacity to learn and the resources to support that capacity.
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In practice, the strategies of most organizations are probably a combination of the
intended (planned) and the emergent.
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The message for management is that it needs t o recognize the process of
emergence and to intervene when appropriate, killing off bad, emergent strategies
but nurturing potentially good ones.
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To make such decisions, managers must be able to judge the worth of emergent
strategies.

They must be able to think strategically.
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Although emergent strategies arise from within the organization without prior
planning— that is, without going through the steps illustrated in Figure 1.3 in a
sequential fashion top management still has to evaluate emergent strategies.
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Such evaluation involves comparing each emergent strategy with the organization’s
goals, external environmental opportunities and threats, and internal strengths and
weaknesses.
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The objective is to assess whether the emergent strategy fits the company’s needs and
capabilities.
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In addition, Mintzberg stresses that an organization’s capability to produce emergent
strategies is a function of the kind of corporate culture that the organization’s
structure and control systems foster.
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In other words, the different components of the strategic management process are
just asimportant from the perspective of emergent strategies as they are from the
perspective of intended strategies.
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Strategic Planning in Practice
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Despite criticisms, research suggests that formal planning systems do help managers
make better strategic decisions.

Slazawal alagl o Gl e 4 s (Alb slgaiun 4S A e Mgidiy (G085 (AET) 3ga g b
A g 5l i S

For strategic planning to work, however, it is important that top- level managers plan
not justin the context of the current competitive environment but also try to find the
strategy that will best allow them to achieve a competitive advantage in the future
competitive environment.
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To try to forecast what that future will look like, managers can use scenario
planning techniques to plan for different possible futures.

They can also involve operating managers in the planning process and seek to shape
the future competitive environment by emphasizing strategic intent.
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Scenario Planning
S Ak

One reason that strategic planning may fail over the long run is that managers, in their
initial enthusiasm for planning techniques, may forget that the future is inherently
unpredictable.
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Even the best- laid plans can fall apart if unforeseen contingencies occur, and that
happens all the time in the real world.
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Scenario planningis based upon the realization that the future is inherently

unpredictable, and that an organization should plan for not just one future, but a range
of possible futures.

Scenario planning involves formulating plans that are based upon “what if” scenarios
about the future.
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In the typical scenario planning exercise, some scenarios are optimistic and some
pessimistic.

Teams of managers are asked to develop specific strategies to cope with each scenario.
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A set of indicators is chosen which are used as “signposts” to track trends and
identify the probability that any particular scenario is coming to pass.
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The idea is to get managersto understand the dynamic and complex nature of their
environment, to think through problems in a strategic fashion, and to generate a
range of strategic options that might be pursued under different circumstances.
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The scenario approach to planning has spread rapidly among large companies.

One survey found that over 50% of the Fortune 500 companies use some form
of scenario planning methods.

3 S A el AZ8Ly JLASH K )50 sl Sl Gl 8 e Ay 5 ) Aal s S0 9 (5 sk
LS e o) g L Al slgdig )y damy ) S pd 00w 1 90 ) han AS 0d (adlia

The oil company Royal Dutch Shell has perhaps done more than most to pioneer
the concept of scenario planning, and its experience demonstrates the power of the
approach.

Shell has been using scenario planning since the 1980s.
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Today it uses two main scenarios to refine its strategic planning, which relate to future
demand for oil.
One, called “Dynamics as Usual,” sees a gradual shift from carbon fuels such as oil,

through natural gas, to renewable energy.
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The second scenario, “The Spirit of the Coming Age,” looks at the possibility that a
technological revolution will lead to arapid shift to new energy sources.
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Shell is making investments that will ensure the profitability of the company which

ever scenario comes to pass, and it is carefully
trends for signs of which scenario is becoming more likely over time.

tracking technological and market
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*what is the synonym of this words according to passage?

1- propose

a)offer
2- encompassing
a) surround
3- Intentiona
a) deliberate
4- Implement
a) perform
5- arise
a)appear
6- appropriate
a) successful
7- Combination

a) separation
8- intervene

a) intercede

d) incomprehensibly

d) comperehend

b) inadvertent

c) to be engaged in a work d)activity

d) highness

¢) a mixture of things

b) disconnection

b) autonomous d) semi - independent

-y DJ;QY\}\»
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9- internal
a) outward b) external c) exterior d)interior
10- survey
a) question b) quiz c) consider d) incorrectness

**71-what is the purpose of realized strategy that illustrated in paragraph 1?
a)that is imagination of company about of future of company

b)that is product of whatever planned strategies are actually put into action
2- what is the purpose of emergent strategy that illustrated in paragraph 1?

a) Emergent strategies are the unplanned responses to unforeseen circumstances
b) emergent strategies are not often successful and not more appropriate than intended strategies.
c) the strategies of most organizations are probably a combination of the the emergent

3-what is the purpose of scenario planning techniques in paragraph3 ?
a)managers use it to improve the condition of company at present
b) managers can use scenario planning techniques to plan for different possible futures
4- what is purpose of most companys abot their strategies according to paragraph 1?
a)intended strategies
b)planned strategies
c)emerge strategies
d) a combination of the intended (planned) and the emergent Sterategies.
% %k %k
1-what is the model of strategy that Henry Mintzberg has proposed?
2-what is realized strategy in opinion of Henry Mintzberg?
3-in viewpoint of Henry Mintzberg emergent strategies are often successful ?
4-what is the strategies that organization can use in viewpoint of Henry Mintzberg?

5- For strategic planning to work what must doing top- level managers ?
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6-what are doing To managers try to forecast what that future will look like?

7- Can you tell One reason that strategic planning may fail over the long run

**x*please joining synonyms to each other?

Approach to be defeated
Inherently perfect
Experience Basic
Optimistic Ranking
likeliness not succeed
Fail unpredictable
demonstrates benefit
scenario
cope pessimistic
achieve refine
Spirit accent force on
Particular prove
improve method
gradual scheme
Emphasize soul
first manage
predict Foress

unforeseeable

involvement in

advantage step-by-step
Current Initial
evaluation Present
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individual

Forecast

attain

probability

Vo5 R ¥l s O

propose
encompassing
illustrate
realize
Implement
unpredicted
delibrate

arise
serendipitous
Response
maintain
appropriate
Record
probably
Combination
intercede
nurturing
decision

cope

offer, suggest

surround,

explain
comprehend,recognize
do,perform

unforesee

Intentional

appear

accident

reply, answer

claim

suitable, fitting

account, not e

likely, most likely
association, cooperation
intervene

take care of
conclusion, deter mination,

manage, succeed
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Particular
method
evaluate
capability
Foster
Despite
criticism
advantage
achieve
Enthusiasm
Inherently
Initial
Contingency
pursue
refine

profitability

specific, individual
Approach
assess

Ability

take care of
regardless of
fault

benefit
attain
eagerness
fundamenta
beginning
chance event
follow
improve

money-making
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The great virtue of the scenario approach to planning is that it can push managers to think
outside of the box, to anticipate what they might have to do in different situations, and to
learn that the world is a complex and unpredictable place which places a premium on
flexibility, rather than inflexible plans based on assumptions about the future that may turn

out to be incorrect.
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In many cases, as a result of scenario planning organizations might pursue one dominant
strategy, related to the scenario that is judged to be most likely, but make some
investments that will pay off if other scenarios come to the fore
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Thus the current strategy of Shell is based on the assumption that the world will only
gradually shift way from carbon-based fuels (its “Dynamics as Usual” scenario), but the
company is also hedging its bets by investing in new energy technologies and mapping out
a strategy to pursue

Should its second scenario come to pass.
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Decentralized Planning
Koala g€ sah
A mistake that some companies have made in constructing their strategic planning process

has been to treat planning as an exclusively top management responsibility
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This ivory tower approach can result in strategic plans formulated in a vacuum by top

managers who have little understanding or appreciation of current operating realities.
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Consequently, top managers may formulate strategies that do more harm than good.
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For example, when demographic data indicated that houses and families were shrinking,
planners at GE’s appliance group concluded that smaller appliances were the wave of the
future.

(A gy (A& S eS Jla oW sl 9y ASA Maae (LS Cuman 4y Jagy e e DUl B g JUa gl
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Because they had little contact with homebuilders and retailers, they did not realize that
kitchens and bathrooms were the two rooms that were not shrinking.

Nor did they appreciate that when couples both worked, they wanted big refrigerators to
cut down on trips to the supermarket.
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GE ended up wasting a lot of time designing small appliances with limited demand.
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The ivory tower concept of planning can also lead to tensions between corporate-,
business-, and functional- level managers.
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The experience of GE’s appliance group is again illuminating. Many of the corporate
managers in the planning group were recruited from consulting firms or top- flight
business schools.
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Many of the functional managers took this pattern of recruitment to mean that corporate
managers did not think they were smart enough to think through strategic problems for
themselves.
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They felt shut out of the decision- making process, which they believed to be unfairly
constituted.

) bad Gt Adlbala pe ATLEN AIe) g A1) 0 S CAL (bl (548 anaal Cillas 3 Ll

Out of this perceived lack of procedural justice grew an “us-versus- them” mind- set that
quickly escalated into hostility.

As a result, even when the planners were right, operating managers would not listen to
them.
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For example, the planners correctly recognized the importance of the globalization of the
appliance market and the emerging Japanese threat.

However, operating managers, who then saw Sears Roebuck as the competition, paid them
little heed.
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Finally, ivory tower planning ignores the important strategic role of autonomous action by
lower- level managers and serendipity.
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Correcting the ivory tower approach to planning requires recognizing that successful
strategic planning encompasses managers at all levels of the corporation.
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Much of the best planning can and should be done by business and functional managers
who are closest to the facts— planning should be decentralized.
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The role of corporate- level planners should be that of facilitators who help business and
functional managers do the planning by setting the broad strategic goals of the
organization and providing the resources required to identify the strategies that might be
required to attain those goals.
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Strategic Decision Making

Even the best- designed strategic planning systems will fail to produce the desired results if
managers do not use the information at their disposal effectively.
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Consequently, it is important that strategic managers learn to make better use of the
information they have and understand the reasons why they sometimes make poor
decisions.
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One important way in which managers can make better use of their knowledge and
information is to understand and manage their emotions during the course of decision
making.
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MAIN IDEA:

1) What is the main idea of paragraph?
a) The manager should make decision based on assumption.
b) The manager should be in flexible in making decision.

¢) The successful manager are those who are close to the feats.

v d) Much of the best planning can and should be done by business and functional manager.

CHOSE THE BEST SYNONYMS:

Word Synonyms
1) anticipate 1) lose of time
2) situation 2) plan
3) flexibility 3) to expect result
4) investment 4) condition
5) dominant 5) adaptable
6) assumption 6) put money into business
7) wasting 7) something which is not proved
8) design 8) strong authority
9) knowledge or skill by doing things
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9) experience 10) discam
10) consult 11) supply of goods
11) resource 12) feeling
12) identify 13) near
14) specify

13) knowledge

. 15) operative
14) emotion

' 16) principal
15) effective

17) information
16) important
18) cognition
17) provide
19) prepare
18) close
20) execute
19) operate
21) reality
20) facts

22) realize
23) verity

24) notification

25) embassy

CHOSE THE BEST MEANING FOR UNDERLINE WORDS:

1) One important way in which manager can make better use of their knowledge is to understand and manage
their emotions during the course of decision making.

a) information b) understanding ) experience d) emotion

2)understanding and managing their emotion during the course of decision making.

a) kind b) hate c) exciting d) feeling
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3) They didn’t realize that kitchens and bathrooms were the two rooms that were not shrinking.

a) know b) understand c) believe d) think

4) Corporate managers did not thinks they were smart enough to think through strategic problems.

a) clever b) strong c) stupid d) noodle

FILL THE BLANKET WHIT MEANING FULL WORDS:

Even the best- designed strategic planning systems will fail to produce the desired..............if managers
do not use the information at their .............. effectively.
Consequently, it is important that strategic managers ............... to make better use of the information
they have and understand the ..................why they sometimes make poor ................ .
a) events b) information c) results d) effect
a) disposal b) working c) projects d) scenario
a) know b) learn c) try d) focus
a) way b) resources c) reasons d) goals
a) contact b) contract c) concept d) decision
TRANSLATE:
Decentralized Planning 35 oo b (sl als s
think outside of the box 5,5 S8 el 5l 7,5
Inflexible plans Sllaxsl BB sl asl
as a result of PPN
turn out to be incorrect s e BB
in many cases 3)lg0 31 (g ks yo
dominant strategy ol sloe 51yl
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to treat planning b oos JLis
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concept of planning b palio
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Globalization P )
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answer question completely.

1/ In which cases even the best-designed strategic planning system win fail to produce the desired
result?

Planning system will fail to produce the desired results if manages do not use the information at
their disposal effectively.

2/ Should manages be flexible or un flexible in their planning if yes or no why?

They should be flexible because the world is a complex and unpredictable place and flexibility play
important role than inflexibility.

3/What's the defect of plans based on assumption?
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The plans based on assumptions may turn out to be incorrect.

4/ What's the main reason that top manages do more harm than good?

Because they have little understanding or appreciation of current operating realities.

5/ What's the important way in which managers can make better use of their knowledge?

The important way for manager is to understand and manage their emotions during the course of
decision making.

Using business and functional manages who are closest to the facts should be centralized.
7/ What's the role of corporate-level planners?

They should be facilitators who help business and functional managers do the planning by setting
the broad strategic goals of the organization and providing the resource required to identify the
strategies that might be required to attain those goals.

Choose true and false

1/understanding and managing emotion during the course of decision making
True False

2/corporate-level planers play important role in fascinating strategic goals
True False

3/best planning should be done by business and functional manager

True False

4/having understanding and appreciation with current operating realities is not important for top
managers

True False

A o5 8 Y s LG




111

anticipate
appliance
appreciate
approach
assumption
complex

concept

Consequently

contact
course
current
demand
design
dominant
effective
emotion
experience
facts
flexibility
identify
important
inflexible
investment
knowledge
limited

mistake

to expect result - expect - foresee

device - tool
value

near

something which is not proved

difficult

theory - idea
result

touch

way - advance
present

ask - question
plan

strong authority
operative

feeling

practice

reality

adaptable

specify

principal - grave
hard

put money into business
cognition- wisdom
curbed

error - fault
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provide
pursue
realize
resource
responsibility
situation
unpredictable
vacuum
virtue
corporate
functional
experience
pattern
shut
decision
justice
quickly
hostility
importance
serendipity
corporation
attain
produce

disposal

Cognition

supply
follow
know
Way

task - role
condition
unsure
emoty
goodness
combined
practical - useful
skill
design
lock
resolution
equity
fast
enmity
value
chance
company
achieve
build

control

discernment
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Cognitive Biases
Ul Db

The rationality of human decision makers is bounded by our own cognitive capabilities.
Canlg | S0 SlabiB 4 dgumo Sl Of 5 pwondl Cuillias

It is difficult for us absorb and process large amounts of information effectively.
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As a result, when making decisions we tend to fall back on certain rules of thumb, or
heuristics, that help us to make sense out of a complex and uncertain world.
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These heuristics can be quite useful, but sometimes their application can result in severe

and systematic errors in the decision- making process.
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Systematic errors are those that appear time and time again.
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They seem to arise from a series of cognitive biases in the way that human decision makers
process information and reach decisions.
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Because of cognitive biases, many managers end up making poor decisions, even when

they have good information at their disposal and use a good decision- making process that
is consistent with the rational decision- making model.

& S S S (0 3BT ) (Ao Olownual O g 31 (S ok ( SSUS OB 2l LIS @
B0 (S 5 ol o b A7 W18 (S 5 ondl i T 31 oolakul g dilH due ) 33 295 Dleli
cwl bkl o
Several biases have been verified repeatedly in laboratory settings, so we can be
reasonably sure that they exist and that we are all prone to them.
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The prior hypothesis bias refers to the fact that decision makers who have strong prior

beliefs about the relationship between two variables tend to make decisions on the basis
of these beliefs, even when presented with evidence that their beliefs are wrong.
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Moreover, they tend to seek and use information that is consistent with their prior beliefs,
while ignoring information that contradicts these beliefs
39 (@1 Cpmiy W las b 45 s oolitul Jlelbl 3 g widl Jlelbl JLis 4 Wizl bld gl oyl 4
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To put this bias in a strategic context, it suggests that a CEO who has a strong prior belief

that a certain strategy makes sense might continue to pursue that strategy, despite
evidence that it is inappropriate or failing.
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Another well- known cognitive bias, escalating commitment, occurs when decision-
makers, having already committed significant resources to a project, commit even more
resources if they receive feedback that the project is failing.
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This may be an irrational response; a more logical response would be to abandon the
project and move on (i.e., to cut your losses and run), rather than escalate commitment.
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Feelings of personal responsibility for a project apparently induce decision- makers to stick
with a project despite evidence that it is failing.
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A third bias, reasoning by analogy, involves the use of simple analogies to make sense out
of complex problems.
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The problem with this heuristic is that the analogy may not be valid.
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A fourth bias, representativeness, is rooted in the tendency to generalize from a small
sample or even a single vivid anecdote.
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This bias violates the statistical law of large numbers, which says that it is inappropriate to
generalize from a small sample, let alone from a single case.
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In many respects, the dot- com boom of the late 1990s was based on reasoning by analogy
and representativeness.
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Prospective entrepreneurs saw some of the early dot- com companies such Amazon and
Yahoo achieve rapid success, at least judged by some metrics.
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Reasoning by analogy from a very small sample, they assumed that any dot- com could
achieve similar success.
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Many investors reached similar conclusions.
NS @lan Slg o 4l O wlo yw 31 (Solw
The result was a massive wave of start- ups that jumped into the Internet space in an
attempt to
S o B 50 G dlopw Sl W 50 Syl Glad 4 b g 9 B LI > i T g domed
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That the vast majority of these companies subsequently went bankrupt is testament to the

fact that the analogy was wrong and the success of the small sample of early entrants was
no guarantee that other dot- coms would succeed.
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Another cognitive bias is known as the illusion of control:
D9k o0 ASLL 5T o Olgie b Do bl GBI il e

This is the tendency to overestimate one’s ability to control events.
el B39y J 57 (810 85 (U195 v I i 28T 2 Sl e (!

People seem to have tendency to attribute their success in life to their own good decision
making and their failures to bad luck.
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General or top managers seem to be particularly prone to this bias:
A B ol dmins ol sl 4 1L Al L I Ol

Having risen to the top of an organization, they tend to be overconfident about their ability
to succeed.
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According to Richard Roll, such overconfidence leads to what he has termed the hubris
hypothesis of takeovers.
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Roll argues that top managers are typically overconfident about their abilities to create
value by acquiring another company.
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Hence, they end up making poor acquisition decisions, often paying far too much for the
companies they acquire.
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Subsequently, servicing the debt taken on to finance such an acquisition makes it all but
impossible to make money from the acquisition.
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1- According to paragraph 1,

a) Process of information is difficult for human

b) A decision making model is consistent with cognitive biases

¢) Human decision makers are limited by cognitive biases

d) The heuristics are not always associated with usefulness

2- The word “they” in paragraph 2 refers to:

a) Evidences

b) managers c) beliefs d) decision makers

3- Escalating commitment occurs when decision- makers:

a) Commit significant resources to a project

b) Commit more resources in spite of project failing.

c) Show a logical response.

d) Commit more resources whether feedbacks are positive or negative

4- According to the passage, the limitation of reasoning by analogy is that:

a) It is a heuristic

b) It use of simple analogies

c) Comparison may not be valid

d) It makes sense of complex problems
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5- according to paragraph 1:

a) Cognitive biases influence in making decisions.

b) Many managers always make poor decisions,
c) Managers have good information at their disposal

d) Managers always use of a rational decision- making model

6- Illusion of control refers to:

a) Tendency to underestimate ones abilities

b) Tendency to show one’s abilities

c) Tendency to relate one’s success to external factors

d) Tendency to relate one’s success to internal factors

7- The passage states that dot- com boom of the late 1990s was due to:
a) Rapid success of the major companies.
b) Amazon and Yahoo promotion.

c) Entrepreneurs reasoning based on analogy.

d) A massive wave of start-ups into internet space.

8- Rapid success of Amazon and yahoo resulted in:

a) A great entrance wave into internet space

b) A great level of capitalization in firms and companies

c) Success of other small internet companies
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d) Investors’ decision to buy dot-com companies.

9- Top managers are especially susceptible to:

a) Representativeness,

b) lllusion of control

c) Reasoning by analogy

d) Escalating commitment

10-Richard Roll argues that top managers’ overconfidence is a result of:
a) Their abilities
b) Making poor decisions

c) Cognitive biases

d) Their decision to acquire companies

(Ulgw 1) Sz BL3,L (sbol ol Jlgw S5 -

What is the main idea of the passage?

The rationality of human decision makers is bounded by our own cognitive capabilities.

It is difficult for us absorb and process large amounts of information effectively. As a result, when making decisions
we tend to fall back on certain rules of thumb, or heuristics, that help us to make sense out of a complex and
uncertain world. These heuristics can be quite useful, but sometimes their application can result in severe and
systematic errors in the decision- making process. Systematic errors are those that appear time and time again.
They seem to arise from a series of cognitive biases in the way that human decision makers process information
and reach decisions. Because of cognitive biases, many managers end up making poor decisions, even when they
have good information at their disposal and use a good decision- making process that is consistent with the rational
decision- making model. Several biases have been verified repeatedly in laboratory settings, so we can be
reasonably sure that they exist and that we are all prone to them.

a) Systematic errors are the main cause of wrong information process in humans.
b) The human decision making is influenced by cognitive biases.

c) Biases are apparent only in some managers.

d) Cognitive biases help us to make sense out of a complex and uncertain world.
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Several biases have been verified repeatedly in laboratory settings, so we can be reasonably sure that
they exist and that we are all prone to them. The prior hypothesis bias refers to the fact that decision
makers who have strong prior beliefs about the relationship between two variables tend to make
decisions on the basis of these beliefs, even when presented with evidence that their beliefs are wrong.
Moreover, they tend to seek and use information that is consistent with their prior beliefs, while ignoring
information that contradicts these beliefs. To put this bias in a strategic context, it suggests that a CEO
who has a strong prior belief that a certain strategy makes sense might continue to pursue that strategy,
despite evidence that it is inappropriate or failing. Another well- known cognitive bias, escalating
commitment, occurs when decision- makers, having already committed significant resources to a project,
commit even more resources if they receive feedback that the project is failing. This may be an irrational
response; a more logical response would be to abandon the project and move on (i.e., to cut your losses
and run), rather than escalate commitment. Feelings of personal responsibility for a project apparently
induce decision- makers to stick with a project despite evidence that it is failing. A third bias, reasoning by
analogy, involves the use of simple analogies to make sense out of complex problems. The problem with
this heuristic is that the analogy may not be valid. A fourth bias, representativeness, is rooted in the
tendency to generalize from a small sample or even a single vivid anecdote. This bias violates the statistical
law of large numbers, which says that it is inappropriate to generalize from a small sample, let alone from
a single case.

3-1)What is bias refers to the fact that decision makers who have strong prior beliefs about the
relationship between two variables tend to make decisions on the basis of these beliefs?

a) hypothesis bias b) escalating commitment c) reasoning by analogy d) representativeness

3-2)what is bias , occurs when decision- makers, having already committed significant resources to a
project, commit even more resources if they receive feedback that the project is failing?

a) hypothesis bias b) escalating commitment c) reasoning by analogy d) representativeness

3-3)what is bias, , involves the use of simple analogies to make sense out of complex problems?

a) hypothesis bias b) escalating commitment c) reasoning by analogy d) representativeness

3-4)what is bias, rooted in the tendency to generalize from a small sample or even a single vivid anecdote?
a) hypothesis bias b) escalating commitment c) reasoning by analogy d) representativeness
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What is inferred from the passage?

In many respects, the dot- com boom of the late 1990s was based on reasoning by analogy and representativeness.
Prospective entrepreneurs saw some of the early dot- com companies such Amazon and Yahoo achieve rapid
success, at least judged by some metrics. Reasoning by analogy from a very small sample, they assumed that any
dot- com could achieve similar success. Many investors reached similar conclusions. The result was a massive wave
of start- ups that jumped into the Internet space in an attempt to capitalize on the perceived opportunities. That
the vast majority of these companies subsequently went bankrupt is testament to the fact that the analogy was
wrong and the success of the small sample of early entrants was no guarantee that other dot- coms would succeed.

a) Investors assumed that all dot-com companies could succeed.
b) All dotcom companies have been successful.
c) After some companies’ success, a few companies entered into Internet space.

d) Judged by analogy, prospective entrepreneurs saw some of the early dot- com companies such Amazon and

Yahoo achieve rapid success.

(Jlgow V) Wboo S5 sz yuis Jlgaw wsd -0(09> uoaud

What are the disadvantages of heuristics?

What is the meaning of cognitive biases?

Define escalating commitment?

What is the main definition of reasoning by analogy?

According to passage which bias is rooted in tendency to generalize from a small sample?

Define illusion of control?

According to Richard Roll what is hubris hypothesis of takeovers?
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capabilities abilities
Systematic Basic
rational thoughtful
CEO General manager
escalating changing
representativeness | agency
success achievement
acquisition getting
Loss Dropping
Subsequently Later date
argue reason
organization establishment
testament evidence
guarantee warrant
responsibility Duty
overconfident self-assured
decision determination
consistent compatible
finance fiscal matters
contradict Oppose
apparently
ordering
Actually
Literally
defeat
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Cognitive Biases

The rationality of human (1) ........... makers is bounded by our own cognitive capabilities. It is difficult (2)
.......... us absorb and process large amounts of information effectively. (3)........, when making decisions we
tend to fall back on certain rules of thumb, or heuristics, that help us to (4)....... sense out of a complex
and uncertain world. These heuristics can be quite useful, but sometimes their application can result in



https://www.google.com/search?biw=737&bih=412&q=define+self-assured&sa=X&ved=0ahUKEwiIr_WZo7rJAhUKc3IKHSwVBK4Q_SoIIDAA
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errors in the decision- making process. Systematic errors are (6) that appear
time and time again. They (7) to arise from a series of cognitive biases in the way that human decision
makers process information and reach decisions. Because of cognitive biases, (8)......... managers end up
making poor decisions, even when they have good information(9) ....... their disposal and use a good
decision- making process that is consistent with the rational decision- making model. Several biases (10)
........... verified repeatedly in laboratory settings, so we can be reasonably sure that they exist and that we

severe and (5)............

are all prone to them.

1- a) house b)decision c) practice d) top

2-a) of b) from c) for d) that

3- a) however b)because c) furthermore d) as a result

4- a) make b) derive c)give d) get

5- a) actual b) heuristic c)systematic d)final

6- a) those b) such c)one d)so

7- a) like b)indicate c)seem d)suggest

8- a)much b)many c)few d) little

9- a) of b) on c)at. d)in

10- a) has b) had c)has been d) have been
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capabilities s Ul gzl | Organization Olejle
making decisions T «s,S N reasoning by analogy ks JUzal
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According to the passage:

1- The rationality of human decision makers is bounded by our capability to absorb and process large
amounts of information effectively. T

2- When making decisions we tend to fall back on certain heuristics. T
3- The heuristics are always quite useful. F

4- According to hypothesis bias, decision makers tend to make decisions on the basis of rules of thumb.
=

5- Managers end up making poor decisions only when they have good information at their disposal and
use a good decision- making process that is consistent with the rational decision- making model. F

6- Escalating commitment occurs when decision- makers commit even more resources if they receive
feedback that the project is failing. T
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7- Reasoning by analogy involves the use of complex analogies to make sense out of simple problems. F

8- Reasoning by analogy from a very small sample, Prospective entrepreneurs assume that any dot-
com could achieve similar success. T

9- lllusion of control is the tendency to underestimate one’s ability to control events. F

10- According to Richard Roll, top managers are typically overconfident about their abilities to create
value by acquiring another company. T

(Jlgw ) ) .59 5 adS Slpx U alo> 50 5 (s> alo> o5 - »

(1- Result, 2- tend, 3-rules, 4-complex)
Asa ... , when making decisions we ....... to fall back on certain ...... of thumb, or heuristics, that help us to make
sense out of a ....... and uncertain world.

(1- Massive,2- jumped, 3-attempt, 4-opportunities)
The result was a ........ wave of start- ups that....... into the Internet spaceinan ........ to capitalize on the
perceived..........

(Servicing, finance, impossible, make)
Subsequently, ........ the debt taken onto ....... such an acquisition makes it all but .......... to ... money from the
acquisition.

(vast, bankrupt, analogy, dot- coms)

That the ......... majority of these companies subsequently went ......... is testament to the fact that the ........... was
wrong and the success of the small sample of early entrants was no guarantee that other .......... would succeed.

(success, metrics, judged, achieve)
Amazon and Yahoo ........... rapid........... ,atleast ........... by some.........

(rooted, generalize, sample, vivid)

Representativeness, is ....... in the tendency to.......... fromasmall ........... or even a single.......... anecdote.

(strategic, CEQ, strategy, evidence)
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To put this biasina ........ context, it suggests thata ........... who has a strong prior belief that a certain ........... makes
sense might continue to pursue that strategy, despite ........... that it is inappropriate or failing.

(verified, settings, sure, prone)
Several biases have been .......... repeatedly in laboratory......... , SO we can be reasonably ....... that they exist and
that we areall ........ to them.

(process, effectively, difficult, amounts)
[tiS.mnn... for us absorb and ........ large ......... of information.........

(responsibility, induce, stick, evidence)
Feelings of personal ............ for a project apparently .......... decision- makers to ......... with a project despite ......... that
it is failing.
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Cognition
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Appear
Rational
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Strong
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inappropriate
Escalating
commitment
abandon
bias

Stick
Heuristic
rooted
Vivid
anecdote
violates
Prospective
judged
rapid
assumed
Conclusions
massive
attempt
capitalize
Majority
testament
analogy
Guarantee
illusion
tendency
failures

prone

unsuitable
Intensification
duty, task
leave
fanaticism
situation
reconnaissance
frill

clear

story

quash, breach, disaffirm

coming, approaching
Discern

fast, quick
supposed

result

vast, enormous
effort

investment

feck

evidence

syllogism

bail, guaranty
delusion

tropism, orientation
defeat
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Climb
Confident
hubris
hypothesis
Acquisition

Impossible
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Improving Decision Making
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The existence of cognitive biases raises the issue of how to bring critical information to bear

on the decision mechanism so that a company’s strategic decisions are realistic and based

on thorough evaluation.
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Two techniques known to enhance strategic thinking and counteract groupthink and

cognitive biases are devil’s advocacy and dialectic inquiry.
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Devil’s advocacy requires the generation of both a plan and a critical analysis of the plan.
One member of the decision- making group acts as the devil’s advocate, bringing out all the

reasons that might make the proposal unacceptable.
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In this way, decision makers can become aware of the possible perils of recommended

courses of action.
m&;c@]cﬁ.ﬁwé&L;\AM}JJJJP}AU_}\)L;J\m\jﬁsnu\gm;&yamﬁc&_\yjﬁuq\m

Dialectic inquiry is more complex, for it requires the generation of a plan (a thesis) and a

counterplan (an antithesis) that reflect plausible but conflicting courses of action.

}Jdﬁmhwdwcﬁdgjcﬁ@#ﬂJ.\AJL...\.I‘\S‘).HAUJ\Mc;u.n\‘)ﬁamefp‘ssja.mw‘).\
_J&QGAUAUEAJ\AO:\QJJ}MMLAAQLSL%@JJQMJ\J

Strategic managers listen to a debate between advocates of the plan and counterplan and

then make a judgment of which plan will lead to the higher performance.
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The purpose of the debate is to reveal problems with definitions, recommended courses of
action, and assumptions of both plans. As a result of this exercise, strategic managers are
able to form a new and more encompassing conceptualization of the problem, which

becomes the final plan (a synthesis).
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Dialectic inquiry can promote thinking strategically.
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Another technique for countering cognitive biases, championed by Nobel Prize winner

Daniel Kahneman and his associates, is known as the outside view.
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The outside view requires planners to identify a reference class of analogous past strategic
initiatives, determine whether those initiatives succeeded or failed, and evaluate the project

at hand against those prior initiatives.
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According to Kahneman, this technique is particularly useful for countering biases such as

the illusion of control (hubris), reasoning by analogy and representativeness.
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Thus, for example, when considering a potential acquisition planners should look at the track

record of acquisitions made by other enterprises (the reference class), determine whether
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they succeeded or failed, and objectively evaluate the potential acquisition against that

reference class.
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Kahneman argues that such a “reality check” against a large sample of prior events tends to
constrain the inherent optimism of planners and produce more realistic assessments and

plans.
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Strategic Leadership
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One of the key strategic roles of both general and functional managers is to use all their
knowledge, energy, and enthusiasm to provide strategic leadership for their subordinates

and develop a high-performing organization.
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Several authors have identified a few key characteristics of good strategic leaders that do
lead to high performance: (1) vision, eloquence, and consistency, (2) commitment, (3) being
well informed, (3) willingness to delegate and empower, (5) astute use of power, and (6)

emotional intelligence.
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Vision, Eloquence, and Consistency
G ke 5 Caliad ¢ & juay
One of the key tasks of leadership is to give an organization a sense of direction.
Sl Gl 53 R G alag) o ulS callay 1 Sy

Strong leaders seem to have clear and compelling visions of where their organizations should
go, are eloquent enough to communicate their visions to others within their organization in
terms that energize people, and consistently articulate their visions until they become part

of the organization’s culture.
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Examples of strong business leaders include Microsoft’s Bill Gates, Jack Welch, the former

CEO of GE and Sam Walton, Walmart’s founder.
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For years, Bill Gates’ vision of a world in which there would be a Windows-based personal

computer on every desk was a driving force at Microsoft.
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More recently, the vision has evolved into one of a world in which Windows-based software
can be found on any computing device— from PCs and servers to video game consoles (X-B

ox), cell phones, and handheld computers.
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At GE, Jack Welch was responsible for articulating the simple but powerful vision that GE

should be first or second in every business in which it competed, or exit from that business.
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Similarly, it was Sam Walton who established and articulated the vision that has been central
to Walmart’s success— passing on cost savings from suppliers and operating efficiencies to

customers in the form of everyday low prices.
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Commitment

-

A

Strong leaders demonstrate their commitment to their vision and business model by actions

and words, and they often lead by example. Consider Nucor’s former CEO, Ken Iverson.
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Nucor is a very efficient steelmaker with perhaps the lowest cost structure in the steel
industry. It has turned in 30 years of profitable performance in an industry where most other

companies have lost money because of a relentless focus on cost minimization.
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In his tenure as CEO, Iverson set the example: he answered his own phone, employed only
one secretary, drove an old car, flew coach class, and was proud of the fact that his base
salary was the lowest in the Fortune 500 (lverson made most of his money from

performance-based pay bonuses).
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This commitment was a powerful signal to employees that Iverson was serious about doing
everything possible to minimize costs. It earned him the respect of Nucor employees, which

made them more willing to work hard
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Although Iverson has retired, his legacy lives on in the cost- conscious organization culture

that has been built at Nucor, and, like all other great leaders, his impact will go beyond his

.tenure as a leader
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1.Defense 2. Generation 3. Potential 4. assessments
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1. organization 2. Compliment 3. Optimism 4. Potential
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1. assessments 2. Compliment 3. Suffering 4. Generation
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Strong leaders seem to have clear and compelling visions of where their organizations should
go, are eloguent enough to communicate their visions to others within their organization in

terms that energize people, and consistently articulate their visions until they become part of
the organization’s culture.

1. The power of leaders 3. Communicating of visions

2. The role of the leaders * 4. The culture

SH3) . e — plxdl sy LS 4 SO P!l Gl pode 7.

Strategic managers listen to a debate between advocates of the plan and counterplan and
then make a judgment of which plan will lead to the higher performance.

* .\ Listen to a debate between advocate of the plan and then judge
2. Judge and listen to the debate
3. Tell which plan lead to higher performance.

4. None of them

Thus, for example, when considering a potential acquisition planners should look at the track
record of acquisitions made by other enterprises (the reference class), determine whether

they succeeded or failed, and objectively evaluate the potential acquisition against that
reference class.

1-—earning potential  2- the role objectivity is evaluation of potential aqusision against
that reference class*  3-it talks about success and fail 4-none of them
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Nucor is a very efficient steelmaker with perhaps the lowest cost structure in the steel
industry. It has turned in 30 years of profitable performance in an industry where most other
companies have lost money because of a relentless focus on cost minimization.

1-nucor is a steelmaker will have the lowest cost structure in industry .*

2. The power of leaders 3- Communicating of visions

3. 4- none of them

This commitment was a powerful signal to employees that Iverson was serious about doing
everything possible to minimize costs. It earned him the respect of Nucor employees, which
made them more willing to work hard. Although Iverson has retired, his legacy lives on in the
cost- conscious organization culture that has been built at Nucor, and, like all other great
leaders, his impact will go beyond his tenure as a leader.

1-none of them 2-power of commitment

3-cost — conscious organization culture has built at Nucor *

4-the impact of culture

1- What are two techniques that improve strategic thinking and cognitive biases ?

devil’s advocacy and dialectic inquiry
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2-what are the purposes of the debate ?

to reveal problems with definitions, recommended courses of action, and

assumptions of both plans.

3-why dialectic inquiry is more complex ?

for it requires the generation of a plan (a thesis) and a counterplan (an antithesis) that

reflect plausible.

4-what is the role of “reality check “ against prior events ?

It’s role is to constrain the inherent optimism of planners and produce more realistic

assessment and plans .

5-Name at least 4 Key characteristics of good strategic leaders that lead to high

performance ?

1. Vision ,eloquence and consistency 2. Commitment 3. Being well informed 4.

Emotional intelligent.
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6-Name some business leaders that were strong?

Microsoft’s Bill Gates, Jack Welch, the former CEO of GE and Sam Walton, Walmart’s

founder.

7-What is synthesis?

strategic managers are able to form a new and more encompassing conceptualization

of the problem, which becomes the final plan (a synthesis).
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cognitive e e involve
evaluation e e opened
generation e e applying
advocacy e e Pay attention
definitions e e Took to the air
inguiry e e strong
constrain e e Cruel- harsh
roles e e Guarantee- engagement
organization e e producer
include e e Asneeded
established e o fluency
operating e e Force- inhibit
Consider e e improve
flew e e Discover

powerful e e advancement




141

relentless e e assessment
commitment e e creation
supplier e e Psychological-mental
enough e e descriptions
eloquence e e Asking- looking into
constrain e e restriction
promote e e duties
reveal e e department

e [nventory

Close tests .4

Several authors have identified a few key characteristics of good strategic leaders that do
lead to high performance: (1) vision, eloquence, and consistency, (2) commitment, (3) being
well informed, (3) willingness to delegate and empower, (5) astute use of power, and (6)
emotional intelligence.

1. a) actors b) authors c) scientists d) students
2.a)top b) qualified c) planned d)strategic
3. a) view b) vision c) sight d) look

4. a) delete b) increase c) delegate d)encourage
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5. a) emotional b) dialectic c) oral d) verbal

5-true or false

1-...... Kahneman argues that such a “reality check” in agreement with a large sample

of prior events tends to constrain the inherent optimism of planners

2-...... willingness to delegate and empower is one of the key characteristics of good

strategic leaders that do lead to high performance.

3-.. astute use of power is not a key of characteristics of good strategic leaders that

do lead to high performance.

4-...... Commitment can promote thinking strategically.

5, The purpose of the debate is to reveal problems with definitions, recommended

courses of action, and assumptions of both plans.

(SR Two techniques known to enhance strategic thinking and counteract groupthink and
behavioral biases are devil’s advocacy and dialectic inquiry.

T Strong leaders demonstrate their commitment to their vision and business model by
doing them favor.

8-...... One of the key strategic roles of both general and functional managers is to use all their
knowledge, energy, and enthusiasm to provide strategic leadership for their subordinates
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9..... Examples of strong business leaders include Microsoft’s Bill Gates, Jack Welch, the

former CEO of GE and Sam Walton, Walmart’s founder.

10-....... Strategic managers listen to a debate between creators of the plan and counterplan.

7-filling the blank. . v i S 43 cwlio 4adsS Lo 1y I3 sl>

1. Strategic managers listento a.....cceeeeuvnnee. between advocates of the plan and

counterplan(debate)

2. decision makers can become................... of the possible perils of recommended

courses of action.( aware)

3. One of the key tasks of leadershipisto . . .. ... ... .anorganization a

sense of direction(give)

4. The purpose of the debate isto ......cccc......... problems with definitions. ( reveal)

5. Dialectic inquiry can .................. thinking strategically. (promote)

6. When considering a potential acquisition planners should ................

record of acquisition made by other enterprises.( look)

at the track

7. Nucoris a very efficient ...........c........ with perhaps the lowest cost structure in the

steel industry. (steelmaker)
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8. strategic managers are able to

............ a new and more encompassing

conceptualization of the problem (form)

= is more complex, for it requires the generation of a plan and a

counterplan that reflect plausible. (dialectic inquiry)
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requires
complex
recommended
plausible
commitment
debate
conceptualization
inquiry
associates
particularly
illusion
acquisitions
evaluate

inherent

Need
involved
Urged
Reasonable
assurance
consideration
Concept
asking
colleague
specifically
False belief
receiving
judge

basic
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articulate
identified
intelligence
enthusiasm
cognitive
secretary
legacy
powerful
organization
impact
performance
direction
evolve
strategic
assessments
personal

reference

clearly

label
Understand
excitement
psychological
Office working
heritage
Strong
arranging
force
accomplishment
management
develop
crucial
evaluation
private

Remark
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